

BID BULLETIN NO. 01

Date:

24 May 2023

ITB No.:

bac-23-0505c

Project Name:

Supply and Delivery of Various Medical Supplies for the

Use of PCGH and PCCH CY 2023

ABC: Php189,364,177.90)

To all prospective bidders:

This Bid Bulletin is issued to clarify, supplement, modify and/or revise the particular sections in the Bid and Contract Documents as stipulated in the Bidding Documents issued on 5 May 2023. The Bidders shall take note of the following items carefully and consider them in the preparation of their bid proposals, as they shall form part of the CONTRACT DOCUMENTS.

| Item | Previous Specification/ Clarification/Request to Consider | | | An | | nt/Re rificat | sponse to ion |) |
|------|--------------------------------------------------------------|----------------------------------------------------------------------------------|--|----------------|-------------------|------------------|--------------------------------------|--------|
| 1 | PREVIO | OUS TERMS OF REFERENCE | | MEND REFERE | MENT NCE | ТО | TERMS | OF |
| | | XXX XXX XXX | | | XXX | (XXX X | XXX | |
| | NO. 9 | Delivery schedule in calendar days: 15 days upon approval of the Purchase Order. | | NO. 9 | calenda | r days | schedule : 15 days u the Purch | |
| | | 9.1. 1st Batch - June to September 2023 | | | 9.1. 1s Septem | | ch - June 2023 (| to 120 |



| | 9.2. 2nd Batch - October to December 2023 | |
|----|---------------------------------------------------------------------------------|----|
| | 9.3. Please see attached schedule of delivery and quantity of items to deliver. | |
| 10 | Forty-five days (45) upon completion of delivery. | 10 |

I.

XXX XXX XXX

9.3. Please see attached schedule of delivery and quantity of items to deliver. 10 Forty-five days (45) upon completion of delivery per batch.

9.2. 2nd Batch - October to December 2023 (120 days)

XXX XXX XXX

2 PREVIOUS SECTION INVITATION TO BID

XXX XXX XXX

CITY GOVERNMENT 1. The PASIG, through the Executive Budget CY 2023 intends to apply the sum of One Hundred Eighty-Nine Million Three Hundred Sixty-Four Thousand One Hundred Seventy-Seven Pesos & 90/100 Only (Php 189,364,177.90) being the ABC to payments under the contract for the Supply and Delivery of Various Medical Supplies for the use of PCGH and PCCH. Bids received in excess of the ABC shall be automatically rejected at bid opening.

| LOT NO. | DESCRIPTION | ABC (PHP) |
|------------|------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|--------------|
| LOT 9 | | 1,805,100.00 |
| XXX | | |
| 151 | Stethoscope Adult, Dual sided chest piece design for easier grip and maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low | |

PREVIOUS SECTION I. INVITATION TO BID

XXX XXX XXX

1. The CITY GOVERNMENT OF **PASIG**, through the Executive Budget CY 2023 intends to apply the sum of One Hundred **Eighty-Eight** Million **Hundred Fourteen Thousand** One Hundred Forty-Seven 90/100 Pesos and 188,914,147.90) being the ABC to payments under the contract for the Supply and Delivery of Various Medical Supplies for the use of PCGH and PCCH. Bids received in excess of the ABC for each lot shall be automatically rejected at bid opening.

| LOT | DESCRIPTION | ABC (PHP) |
|-------|------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|--------------|
| NO. | | *** |
| LOT 9 | | 1,805,100.00 |
| XXX | | * * |
| 151 | Stethoscope Adult, Dual sided chest piece design for easier grip and maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low | |

| | frequency | | frequency | |
|------|------------------------------------|-----|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|--|
| | sounds by | | sounds by slightly | |
| | slightly adjusting 150 | | adjusting 150 | |
| | pressure on the | | pressure on the | |
| | chest piece, | | chest piece, | |
| | Soft-sealing ear | | Soft-sealing ear | |
| | tips, provide | | tips, provide | |
| | and excellent | | and excellent | |
| | acoustic seal | | acoustic seal | |
| | and comfortable | | and comfortable | |
| | fit, Headset ids | | fit, Headset ids | |
| | easily adjusted for individual fit | | easily adjusted for individual fit | |
| | and comfort. | | and comfort. | |
| | Angled ear | | Angled ear | |
| | tubes align with | | tubes align with | |
| | ear canals | 1 | ear canals | |
| | -Color: Plum | | -Color: Plum | |
| | -Warranty: 5 | | -Warranty: 2 | |
| 4.50 | years | 153 | years Stethoscope | |
| 153 | Stethoscope Pedia, dual | 133 | Pedia, dual | |
| | sided | | sided | |
| | chestpiece with | | chestpiece with | |
| | small 3.3cm | | small 3.3cm | |
| | diaphragm is | | diaphragm is | |
| | ideal for pedia | | ideal for pedia | |
| | patient versatile | | patient versatile chestpiece | |
| | chestpiece design provide | | design provide | |
| | high acoustic | | high acoustic | |
| | sensitivity with | | sensitivity with | |
| | a floating | | a floating | |
| | diaphragm and | | diaphragm and | |
| | open bell, non- | | open bell, non- | |
| | chill rim and | | chill rim and diaphragm | |
| | diaphragm provide patient | | provide patient | |
| | comfort, soft | | comfort, soft | |
| | sealing eartips | | sealing eartips | |
| | provide an | | provide an | |
| | excellent | | excellent | |
| | acoustic seal | | acoustic seal | |
| | and comfortable | | and comfortable fit, headseat is | |
| | fit, headseat is easily adjusted | | easily adjusted | |
| | for individual fir | | for individual fir | |
| | and comfort, | | and comfort, | |
| | Angled eartube | | Angled eartube | |
| | align with ear | | align with ear | |
| | canals, 5 years | | canals, 2 years | |
| | warranty, color | | warranty, color lemon | |
| | lemon lime | | lime | |
| XXX | | XXX | I STATE OF THE PARTY OF THE PAR | |
| XXX | | | | |
| | | | | |

| | OT 14 | | 9,701,800.00 | LOT 1 | 4 | 9,701,800.00 |
|---|-------|--------------------------------------------------------------------------------------------------------------------------------------------------|--------------|------------|--------------------------------------------------------------------------------------------------------------------------|--------------|
| | (XX | | | XXX | | - FE |
| | | Face Mask N95, at least 95 percent filtration efficiency, with 2 strap design, cushioning nose foam (1860 Medical Grade) | | 228 xxx | Face Mask N95, at least 95 percent filtration efficiency, with 2 strap design, cushioning nose foam (1860 Medical Grade) | |
| L | OT 15 | 5 | 1,985,075.00 | LOT 1 | 5 | 1,985,075.00 |
| | 230 | Clipper Blades, compatible with our existing clipper (CAREFUSION) | | 230 | Clipper Blades, compatible with our existing clipper (CAREFUSION) | |
| X | CXX | 710 | 705 0 | XXX | | |
| L | OT 22 | 2 | 36,300.00 | LOT 2 | 2 | 36,300.00 |
| | 289 | ORAL AIRWAY SIZE 1.0 (Black), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer | | 289 | ORAL AIRWAY SIZE 60mm, rigid kink- resistant curve, with tapered edges, latex- free biologically inert polymer | |
| | 290 | ORAL AIRWAY SIZE 2.0 (White), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer | | 290 | ORAL AIRWAY SIZE 70mm, rigid kink- resistant curve, with tapered edges, latex- free biologically inert polymer | |
| | 291 | ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer | | 291 | ORAL AIRWAY SIZE 80mm, rigid kink- resistant curve, with tapered edges, latex- free biologically inert polymer | |
| | 292 | ORAL AIRWAY SIZE 4.0 (Yellow), rigid kink-resistant curve, with tapered edges, latex-free | | 292 | ORAL AIRWAY SIZE 90mm, rigid kink- resistant curve, with tapered edges, latex- | |

| biologically ine | ert | | free biologically | |
|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|---------------|-----------|-----------------------|--------------|
| polymer | | | inert polymer | |
| 293 ORAL AIRWA | | 293 | ORAL AIRWAY | |
| SIZE 5.0 (Red | | | SIZE 100mm, | |
| rigid kin | k- | | rigid kink- | |
| resistant curv | e, | | resistant curve, | |
| with taper | ed | | with tapered | |
| edges, late | x- | | edges, latex- | |
| free biologica | ly | | free biologically | |
| inert polymer | | | inert polymer | |
| 294 ORAL AIRWA | AY | 24 | ORAL AIRWAY | |
| SIZE 6 | .0 | | SIZE 110mm, | |
| (Orange), rig | id | | rigid kink- | |
| kink-resistant | | | resistant curve, | |
| curve, wi | th | | with tapered | |
| tapered edge | s, | | edges, latex- | |
| latex-free | | | free biologically | |
| biologically ine | ert | | inert polymer | |
| polymer | | | | |
| LOT 27 | 2,335,512.00 | LOT 2 | .7 | 2,335,512.00 |
| xxx | | XXX | | |
| 309 Needle f | or | 309 | Needle for | |
| Spinal | | | Spinal | |
| Anesthesia, | (55) | | Anesthesia, | |
| 0.53 x 88mr | n/ | | 0.53 x 88mm/ | |
| 27g x 3½ inch | es | | 25g x 3½ | |
| quincke bev | rel | | inches quincke | |
| with | | | bevel with | |
| transparent | | | transparent | |
| ergonomic | | | ergonomic | |
| needle h | ub | | needle hub | |
| design | | | design | |
| xxx | | XXX | | |
| LOT 36 AUTOCLAY | /E 896,793.60 | 100 miles | 36 AUTOCLAVE | 896,793.60 |
| MACHINE | | MACH | INE | |
| XXX | | XXX | DIOLOGICAL | |
| 412 BIOLOGICAL | | 412 | BIOLOGICAL | |
| INDICATOR | | | INDICATOR | |
| FOR STEA | Μ, | | FOR STEAM, | |
| includes | | | includes | |
| Biological | | | Biological | |
| The state of the s | th | | Incubator with | |
| | 20 | | printer and at | |
| minutes res | ult | | least 20 | |
| 50's/box | | | minutes result | |
| | | | 50's/box | |
| XXX | 1 246 470 40 | XXX | 107.20 | 766,140.40 |
| LOT 38 | 1,216,170.40 | | LOT 38 COMPATIBLE | /00,140.40 |
| COMPATIBLE | | | TO STERRAD | |
| TO STERRAD | | | NX PLASMA | |
| NX PLASMA | | | STERILIZER | |
| STERILIZER | | 484 | | - |
| 424 Auto safety | | 424 | Auto safety | |
| Lancet, single | | | Lancet, | |
| use blade for | | | single use | |
| capillary 1mm | 1 1 | J | blade for | |

| | | depth, | | | capillary | |
|---|----------------------------------------|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|--------------|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|--------------|
| | | 50pcs/box | | | 1mm-depth, | |
| 1 | | | | | 50pcs/box | |
| | 425 | Liquid | | 425 | Liquid | |
| | 1 | Detergent All | | 729 | The state of the s | |
| | | Purpose, for | | | Detergent All | |
| | | dishwashing & | | | Purpose, for | |
| | | general purpose | | | dishwashing | |
| | | cleaning, gal | | | & general | |
| | | cicarinig/ gai | | | purpose | |
| | | | | | cleaning, gal | |
| | 426 | Paper Towel, | | 426 | Paper Towel, | |
| | | lint free, | | | lint free, | |
| | | interfolded, 175 | | | interfolded, | |
| 1 | 17 | pulls, 200mm x | | | | |
| | | 200mm white, | | | | |
| | | for cleaning | | | 200mm x | |
| | | laboratory | | | 200mm | |
| | | spills, single | | | white, for | |
| | | Spins, single | | | cleaning | |
| | | | | | laboratory | |
| | | | | | spills, single | |
| | XXX | <u> </u> | | xxx | | |
| | LOT 5 | 60 | 979,000.00 | LOT ! | 50 | 979,000.00 |
| | XXX | | 5.5/000.00 | XXX | | |
| | 518 | SURGICAL | | 518 | SURGICAL | |
| | 310 | INSTRUMENT: | | | INSTRUMENT: | |
| | | Ovum Forceps, | | | Ovum Forceps, | |
| | | 5 1/2 - 6 inches | | | 5 1/2 - 6 inches | |
| | | (139-152mm) | | | (139-18cm or | • |
| | | (100 101) | | | 180mm) | |
| | LOTS | 4 HEMATOLOGY | 9,151,821.00 | LOT | 84 REAGENTS, | 9,151,821.00 |
| | REAG | The second secon | 5/252/5223 | CONT | TROLS & | |
| | SUPP | | | | SSORIES FOR | |
| | | PROVISION OF | | DRY | CHEMISTRY, | |
| | T. | MATED | | WIN | NING BIDDER | |
| | | YZER. | | | LEND A FULLY | |
| | THE | WINNING | | AUTO | MATED FLOOR | |
| | | ER TO PROVIDE | | TYPE | | |
| | ANAL | | | 5,500,000 | ISTRY | |
| | WITH | AND THE PROPERTY OF THE PROPER | | 1 SERVICE AND ADDRESS OF THE PARTY OF THE PA | YZER, FREE OF | |
| | | RIBUTION | | | RGE PREV. | |
| | | LING | | Control of the Contro | TENANCE, | |
| 1 | | EM, DOUBLE | | | S AND REPAIR, | |
| | the second of the second of the second | ODYNAMIC | | WITE | | |
| | | ENTIAL | | The same of the sa | NECTIVITY. | |
| | | EM AND HAS | | | | |
| | 100-10 Mar 0-10 100 M | OMIZED HAS | | | | |
| | DILU. | | | | | |
| | | O AND LIS | | | | |
| | | IECTIVITY | | | | |
| | 201411 | | | | | |
| | XXX | | 1 | XXX | | |
| | 819 | ALT/5 | | 819 | ALTV/5 | |
| | | Pack/250 | | | Pack/300 | |
| | | Slides | | | Slides | |
| | 1 | Lalines | | I 1 L | | |

| 836 LDH/5 Pack/250 Slides XXX LOT 86 REAGENTS, CONTROL, AND ACCESSORIES FOR GLYCOSYLATED HEMOGLOBIN (HBA1C) TESTING SYSTEM MACHINE WITH | 15,889,245.00 | 836 LDHI/5 Pack/250 Slides xxx LOT 86 REAGENTS FOR ENHANCED CHEMILUMINESCENC E IMMUNOLOGY, WINNING BIDDER TO PROVIDE ANALYZER WITH ENHANCED, |
|------------------------------------------------------------------------------------------------------------------------------------------|---------------|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| HIGH PERFORMANCE LIQUID CHROMATOGRAPHY PRINCIPLE. TO LEND FULLY AUTOMATED MACHINE WITH LIS CONNECTIVITY | | CHEMILUMINISCENC E PRINCIPLE, SHALL PROVIDE CALIBRATORS, CONTROLS AND CONSUMABLES FOR TESTS FREE OF CHARGE. ANALYZER SHOULD BE ABLE TO DETECT CLOT CORRECTION, BUBBLE DETECTION, FLUID LEVEL SENSING AND SHORT SAMPLE DETECTION. USES DISPOSABLE TIPS FOR SAMPLES, USES READY TO USE WASH SOLUTION, DOES NOT REQUIRE WATER SYSTEM. FREE OF CHARGE PREVENTIVE MAINTENANCE,PART S AND REPAIR, WITH |
| XXX 875 NT PRO-BNP, 100 TESTS | | XXX 875 NT-PROBNP II Reagent, 100 Wells |
| 877 PSA, 100 TESTS | | 877 TOTAL PSA II REAGENT, 100 TESTS |
| 878 TSH 100 Tests/Box | | 878 TSH 3 REAGENT PACK, 100 Wells |
| TOT 189 | 9,364,177.90 | TOT 188,914,147.9 |

| | | XXX XXX XXX | | | XX | x xxx | XXX | |
|---|-----------------------------------------------|------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|------------------------------------------------|------------------------------------|----------------------------------------------------------------------------------------------------------------------------------------------------------|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|-------------------------------------------------------------------------|
| 3 | PREVIOU | IS SECTION II. | AMENDMENT TO SECTION II INSTRUCTION TO BIDDERS | | | | II. | |
| | INSTITUT | XXX XXX XXX | | | xx | x xxx | XXX | |
| | 2. Fundir | g Information | 1 | Fundin | _ | | | |
| | 0 fc ir <i>H</i> 7 7 7 5 | the GOP through the source of funding as indicated below or Executive Budget CY 2023 on the amount of One fundred Eighty-Nine Million Three Hundred Sixty-Four Thousand One Hundred Seventy-Seven Pesos & 10/100 Only Php189,364,177.90). | | fu E: th E H T F | inding xecutive ne amo ighty- undre housa | as indexed by the second of th | | for in red e |
| | | xxx xxx xxx | | | XX | x xxx | xxx | |
| 4 | PREVIOU TECHNIC | US SECTION VII. CAL SPECIFICATIONS XXX XXX XXX | | MENDM CHNIC | CAL SE | | SECTION ICATIONS | VII |
| | ITEM | SPECIFICATION | | ITEM | | SPEC | IFICATION | |
| | 11111 | LOT 9 | | | LOT | 9 | | |
| | xxx | | X | xx 151 | Ctoth | 00000 | oe Adult, D | ual |
| | 151 | Stethoscope Adult, Dual sided chest piece design for easier grip and maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting 150 pressure on the chest piece, Soft-sealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with | | | sided easie mane Resil shap foldir tunal high soun adjus press press prece prov acou comf easil indiv | chest euveri ient e and ng ir ble di or ds sting i sting i sting i sting i sting i fortably idual ed ear | piece design grip ng, Light weight weight weight weight was a pocagphragm: How freques by slight on the classeal le fit, Headse adjusted fit and compart with the seal of the | for and ght, its fter ket, lear htly nest sips, lent and tids for fort. |

-Color: Plum -Warranty: 5 years

-Warranty: 2 years

| sided chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime LOT 14 XXX 228 Face Mask N95, at least 95 percent filtration efficiency, with 2 strap design, cushioning nose foam (1860 Medical Grade) XXX LOT 15 230 Clipper Blades, compatible with our existing clipper (CAREFUSION) XXX LOT 22 289 ORAL AIRWAY SIZE 1.0 (Black), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 290 ORAL AIRWAY SIZE 2.0 (White), rigid kink- resistant curve, thapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink- resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink- resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink- resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink- resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink- resistant curve, with tapered edges, latex-free biologically iner polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink- resistant curve, with tapered edges, latex-free biologically iner polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink- resistant curve, with tapered edges, latex-free biologically iner polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink- resistant curve, with tapered edges, latex-free biologically iner polymer 292 ORAL AIRWAY SIZE 3.0 (Green), rigid kink- resistant curve, with tapered edges, latex-free biologically iner polymer | | | - | | |
|------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|-----|-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|---|-----|---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| xxx 228 | 153 | 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years | | 153 | sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 2 years warranty, color lemon |
| XXX 228 Face Mask N95, at least 95 percent filtration efficiency, with 2 strap design, cushioning nose foam (1860 Medical Grade) XXX LOT 15 | | LOT 14 | | | |
| Second | XXX | | | XXX | |
| LOT 15 230 Clipper Blades, compatible with our existing clipper (CAREFUSION) XXX LOT 22 289 ORAL AIRWAY SIZE 1.0 (Black), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 290 ORAL AIRWAY SIZE 2.0 (White), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, la | | percent filtration efficiency, with 2 strap design, cushioning nose foam | | 228 | Face Mask N95, at least 95 percent filtration efficiency, with 2 strap design, cushioning nose foam (1860 Medical Grade) |
| LOT 15 230 Clipper Blades, compatible with our existing clipper (CAREFUSION) | XXX | | | XXX | |
| with our existing clipper (CAREFUSION) xxx LOT 22 289 ORAL AIRWAY SIZE 1.0 (Black), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 290 ORAL AIRWAY SIZE 2.0 (White), rigid kink- resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink- resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink- resistant curve, with tapered edges, latex-free latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink- resistant curve, with tapered edges, latex-free latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink- resistant curve, with tapered edges, latex-free | | LOT 15 | | | |
| LOT 22 289 ORAL AIRWAY SIZE 1.0 (Black), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 290 ORAL AIRWAY SIZE 2.0 (White), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer | 230 | with our existing clipper | | 230 | with our existing clipper |
| 289 ORAL AIRWAY SIZE 1.0 (Black), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 290 ORAL AIRWAY SIZE 2.0 (White), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges latex-free biologically inert polymer | XXX | | | XXX | |
| (Black), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 290 ORAL AIRWAY SIZE 2.0 (White), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges latex-free biologically inert polymer | | | | | |
| (White), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer 291 ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges latex-free biologically inert polymer | 289 | (Black), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer | | | 60mm, rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer |
| (Green), rigid kink- resistant curve, with tapered edges, latex-free latex-free biologically iner | 290 | (White), rigid kink- resistant curve, with tapered edges, latex-free biologically inert polymer | | | 70mm , rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer |
| Diologically mere perf | 291 | ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer | | | 80mm, rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer |
| (Yellow), rigid kink- 90mm, rigid kink-resistar | 292 | (Yellow), rigid kink- | | 292 | ORAL AIRWAY SIZE 90mm, rigid kink-resistant curve, with tapered edges, |

| | tapered edges, latex-free | | latex-free biologically inert |
|-----|----------------------------------------|-------|------------------------------------|
| | biologically inert polymer | H | polymer |
| 293 | ORAL AIRWAY SIZE 5.0 | 293 | ORAL AIRWAY SIZE |
| 293 | (Red), rigid kink-resistant | 233 | 100mm, rigid kink- |
| | curve, with tapered edges, | | resistant curve, with |
| | | | tapered edges, latex-free |
| | latex-free biologically inert | | biologically inert polymer |
| | polymer | 204 | ORAL AIRWAY SIZE |
| 294 | ORAL AIRWAY SIZE 6.0 | 294 | |
| | (Orange), rigid kink- | | 110mm, rigid kink- |
| | resistant curve, with | | resistant curve, with |
| | tapered edges, latex-free | | tapered edges, latex-free |
| | biologically inert polymer | | biologically inert polymer |
| | LOT 27 | | LOT 27 |
| XXX | | XXX | Table 11 Control |
| 309 | Needle for Spinal | 309 | Needle for Spinal |
| | Anesthesia, 0.53 x 88mm/ | | Anesthesia, 0.53 x 88mm/ |
| | 27g x 3½ inches quincke | | 25g x 3½ inches quincke |
| | bevel with transparent | | bevel with transparent |
| | ergonomic needle hub | | ergonomic needle hub |
| | design | | design |
| XXX | | XXX | |
| | LOT 36 AUTOCLAVE MACHINE | | LOT 36 AUTOCLAVE MACHINE |
| XXX | | XXX | |
| 412 | BIOLOGICAL INDICATOR | 412 | BIOLOGICAL INDICATOR |
| | FOR STEAM, includes | | FOR STEAM, includes |
| | Biological Incubator with at | | Biological Incubator with |
| | least 20 minutes result | | printer and at least 20 |
| | 50's/box | | minutes result 50's/box |
| XXX | | XXX | |
| | LOT 38 COMPATIBLE TO | | LOT 38 COMPATIBLE TO |
| | STERRAD NX PLASMA | | STERRAD NX PLASMA |
| | STERILIZER | 100 | STERILIZER |
| 424 | Auto safety Lancet, single | 424 | Auto-safety-Lancet, |
| | use blade for capillary | | single use blade for |
| | 1mm depth, 50pcs/box | | capillary 1mm depth, |
| | | | 50pcs/box |
| | | 425 | Liquid Detergent All |
| 425 | Liquid Detergent All | | Purpose, for |
| | Purpose, for dishwashing | | dishwashing & general |
| | & general purpose | | purpose cleaning, gal |
| | cleaning, gal | 426 | Paper Towel, lint free, |
| 426 | Paper Towel, lint free, | | interfolded, 175 pulls, |
| | interfolded, 175 pulls, | | 200mm x 200mm |
| | 200mm x 200mm white, | | white, for cleaning |
| 1 | | 1.1.1 | laboratory spills, single |
| | for cleaning laboratory | | tabolatory spins, single |
| | for cleaning laboratory spills, single | | laboratory spinsy single |
| XXX | | XXX | laboratory spino, single |
| XXX | | xxx | LOT 50 |

| | | - | | | |
|------|-----------------------------------------|----|-----|------------------------------------|--|
| 518 | SURGICAL INSTRUMENT: | | 518 | SURGICAL INSTRUMENT: | |
| | Ovum Forceps, 5 1/2 - 6 | | | Ovum Forceps, 5 1/2 - 6 | |
| | inches (139-152mm) | | | inches (139-18cm or | |
| | , | | | 180mm) | |
| xxx | | | XXX | | |
| | LOT 84 HEMATOLOGY | | | LOT 84 REAGENTS, | |
| | REAGENTS AND SUPPLIES | Ш | | CONTROLS & | |
| | WITH PROVISION OF | | | ACCESSORIES FOR DRY | |
| | AUTOMATED ANALYZER. | | | CHEMISTRY, WINNING | |
| | THE WINNING BIDDER TO | | | BIDDER TO LEND A FULLY | |
| | PROVIDE ANALYZER WITH | | | AUTOMATED FLOOR TYPE | |
| | MULTI-DISTRIBUTION | | | DRY CHEMISTRY | |
| | SAMPLING SYSTEM, | | | ANALYZER, FREE OF CHARGE PREV. | |
| | DOUBLE HYDRODYNAMIC | | | MAINTENANCE, PARTS | |
| | SEQUENTIAL SYSTEM AND | | | AND REPAIR, WITH LIS | |
| | HAS CUSTOMIZED DILUTION RATIO AND LIS | | | CONNECTIVITY. | |
| | CONNECTIVITY | | | COMMECTATION | |
| | COMMECITATIA | | | | |
| XXX | | | XXX | | |
| 819 | ALT/5 Pack/250 Slides | 11 | 819 | ALTV/5 Pack/300 Slides | |
| 836 | LDH/5 Pack/250 Slides | | 836 | LDHI/5 Pack/250 Slides | |
| XXX | , , , , , , , , , , , , , , , , , , , , | 1 | XXX | | |
| 7373 | LOT 86 REAGENTS, | 1 | | LOT 86 REAGENTS FOR | |
| | CONTROL, AND | | | ENHANCED | |
| | ACCESSORIES FOR | | | CHEMILUMINESCENCE | |
| | GLYCOSYLATED | | | IMMUNOLOGY, WINNING | |
| | HEMOGLOBIN | | | BIDDER TO PROVIDE | |
| | (HBA1C) TESTING SYSTEM | | | ANALYZER WITH | |
| | MACHINE WITH HIGH | | | ENHANCED, | |
| | PERFORMANCE LIQUID | | | CHEMILUMINISCENCE | |
| | CHROMATOGRAPHY | | | PRINCIPLE, SHALL | |
| | PRINCIPLE. TO LEND | | | PROVIDE CALIBRATORS, CONTROLS AND | |
| | FULLY AUTOMATED | | | CONTROLS AND CONSUMABLES FOR TESTS | |
| | MACHINE WITH LIS | | | FREE OF CHARGE. | |
| | CONNECTIVITY | | | ANALYZER SHOULD BE | |
| | | | | ABLE TO DETECT CLOT | |
| | | | | CORRECTION, BUBBLE | |
| | | | | DETECTION, FLUID LEVEL | |
| | | | | SENSING AND SHORT | |
| | | | | SAMPLE DETECTION. USES | |
| | | | | DISPOSABLE TIPS FOR | |
| | | | | SAMPLES, USES READY TO | |
| | | | | USE WASH SOLUTION, | |
| | | | | DOES NOT REQUIRE | |
| | | | | WATER SYSTEM. FREE OF | |
| | | | | CHARGE PREVENTIVE | |
| | | | | MAINTENANCE, PARTS | |
| | | | | AND REPAIR, WITH LIS | |
| | | | | CONNECTIVITY. | |
| XXX | | | XXX | NIT BRODUE TI BOSCOT | |
| 875 | NT PRO-BNP, 100 TESTS | | 875 | NT-PROBNP II Reagent, | |
| | | | | | |
| | | | | 100 Wells | |

| 877 | PSA, 100 TESTS | 877 | TOTAL PSA II REAGENT, 100 TESTS |
|-----|-------------------|-----|------------------------------------|
| 878 | TSH 100 Tests/Box | 878 | TSH 3 REAGENT PACK, 100 Wells |
| XXX | | XXX | |

XXX XXX XXX

XXX XXX XXX

PREVIOUS SECTION VI. SCHEDULE | AMENDMENT TO OF REQUIREMENTS

| | | 303 (100 100 100 100 100 100 100 100 100 10 | |
|-------------|------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|---------------------------------------------|--------|
| ITEM NO. | DESCRIPTION | QTY | TOTAL |
| | LOT 9 | | |
| XXX | | | |
| 151 | Stethoscope Adult, Dual sided chest piece design for easier grip and maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting 150 pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals -Color: Plum -Warranty: 5 years Stethoscope | 20 pcs | 20 pcs |
| | Pedia, dual sided | | |

SECTION VI. SCHEDULE OF REQUIREMENTS

| ITEM | DESCRIPTION | QTY | TOTAL |
|------|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|--------|--------|
| NO. | | | |
| | LOT 9 | | |
| XXX | | | |
| 151 | Stethoscope Adult, Dual sided chest piece design for easier grip and maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting 150 pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals -Color: Plum -Warranty: 2 years Stethoscope | 20 pcs | 20 pcs |
| | Pedia, dual sided | | |

| | | | 4 | | | | | |
|-----|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|---------------|---------------|---------|-----|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|---------------|---------|
| | chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, | | | | | chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, years | | |
| | color lemon lime | | | | | color lemon | | |
| | | | | | | lime | | |
| XXX | | | | | XXX | | | |
| | LOT 14 | | | | | LOT 14 | | |
| XXX | | | | | XXX | Fara Magic | 4E E00 | 45,500 |
| 228 | Face Mask N95, at least 95 percent filtration efficiency, with 2 strap design, cushioning nose foam (1860 Medical Grade) | 45,500 pcs | 45,500 pcs | | 228 | Face Mask N95, at least 95 percent filtration efficiency, with 2 strap design, cushioning nose foam (1860 Medical Grade) | 45,500 pcs | pcs |
| XXX | | | | | XXX | | | |
| | LOT 15 | | 200 | $\ \ $ | 220 | LOT 15 | 200 | 200 pcs |
| 230 | Clipper Blades, compatible with our existing clipper (CAREFUSION) | pcs | 200 pcs | | 230 | Clipper Blades, compatible with our existing clipper (CAREFUSION) | pcs | 200 μω |

| XXX | | | | XXX | | | |
|-----|------------------------------------------------------------------------------------------------------------------------------|--------------|--------------|-----|-----------------------------------------------------------------------------------------------------------------------|--------------|--------------|
| | LOT 22 | | | | LOT 22 | | |
| 289 | ORAL AIRWAY SIZE 1.0 (Black), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer | 55 pcs | 55 pcs | 289 | ORAL AIRWAY SIZE 60mm, rigid kink- resistant curve, with tapered edges, latex-free biologically inert polymer | 55 pcs | 55 pcs |
| 290 | ORAL AIRWAY SIZE 2.0 (White), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer | 55 pcs | 55 pcs | 290 | ORAL AIRWAY SIZE 70mm, rigid kink- resistant curve, with tapered edges, latex-free biologically inert polymer | 55 pcs | 55 pcs |
| 291 | ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer | 55 pcs | 55 pcs | 291 | ORAL AIRWAY SIZE 80mm, rigid kink- resistant curve, with tapered edges, latex-free biologically inert polymer | 55 pcs | 55 pcs |
| 292 | ORAL AIRWAY SIZE 4.0 (Yellow), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer | 55 pcs | 55 pcs | 292 | ORAL AIRWAY SIZE 90mm, rigid kink- resistant curve, with tapered edges, latex-free biologically inert polymer | 55 pcs | 55 pcs |
| 293 | ORAL AIRWAY SIZE 5.0 (Red), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer | 55 pcs | 55 pcs | 293 | ORAL AIRWAY SIZE 100mm, rigid kink- resistant curve, with tapered edges, latex-free biologically inert polymer | | 55 pcs |
| 294 | ORAL AIRWAY SIZE 6.0 (Orange), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer LOT 27 | 55 pcs | 55 pcs | 294 | ORAL AIRWAY SIZE 110mm, rigid kink- resistant curve, with tapered edges, latex-free biologically inert polymer LOT 27 | 55 pcs | 55 pcs |
| VVV | 20.27 | | | XXX | | | |
| 309 | Needle for Spinal Anesthesia, 0.53 x 88mm/ | 1,475 pcs | 1,475 pcs | 309 | Needle for Spinal Anesthesia, 0.53 x 88mm/ | 1,475 pcs | 1,475 pcs |

| | 27g x 3½ | | | | 25g x 3½ | | |
|-----|------------------|--------|---------|-----|-----------------------------------------------|----------------------------------|--------|
| | inches quincke | | | | inches quincke | | |
| | bevel with | | | | bevel with | | |
| | transparent | | | | transparent | | |
| | ergonomic | | | | ergonomic | | |
| | needle hub | | | | needle hub | | |
| | design | | | | design | | |
| XXX | | | | XXX | | | |
| | LOT 36 | | | | LOT 36 | | |
| | AUTOCLAVE | | | | AUTOCLAVE | | |
| | MACHINE | | | | MACHINE | | |
| 412 | BIOLOGICAL | 5 box | 5 box | 412 | BIOLOGICAL | 5 box | 5 box |
| | INDICATOR | | | | INDICATOR FOR STEAM, | | |
| | FOR STEAM, | | | | includes | | |
| | includes | | | | Biological | | |
| | Biological | | | | Incubator | | |
| | Incubator with | | | | with printer | | |
| | at least 20 | | | | and at least | | |
| | minutes result | | | | 20 minutes | | |
| | 50's/box | | | | result 50's/box | | |
| VVV | | | | XXX | Tesare se of sex | | |
| XXX | LOT 38 | | | | LOT 38 | | |
| | COMPATIBLE | | | | COMPATIBLE | | |
| | TO | | | | то | | |
| | STERRAD NX | | | | STERRAD NX | | 6 |
| | PLASMA | | | | PLASMA | | |
| | STERILIZER | | | | STERILIZER | | |
| 424 | Auto safety | 30 box | 30 box | 424 | Auto—safety | 30 | 30-box |
| | Lancet, single | | | | Lancet, | bex | |
| | use blade for | | | | single use | | |
| | capillary 1mm | | | | blade for | | |
| | depth, | | | | capillary | | |
| | 50pcs/box | | | | 1mm—depth, 50pcs/box | | |
| 425 | Liquid | 70 gal | 70 gal | 425 | Liquid | 70 gal | 70-gal |
| 423 | Detergent All | 70 gui | , o gai | | Detergent All | | |
| | Purpose, for | | | | Purpose, for | | |
| | dishwashing & | | | | dishwashing | | |
| | general | | | 111 | & general | | |
| | purpose | | | | purpose | | |
| | cleaning, gal | | | | cleaning, gal | | 5.070 |
| 426 | Paper Towel, | 2,850 | 2,850 | 426 | Paper Towel, | 2,850 | 2,850 |
| | lint free, | pack | pack | | lint free, | pack | pack |
| | interfolded, | | | | interfolded, | | |
| | 175 pulls, | | | | 175 pulls, | | |
| | 200mm x | | | | 200mm × | | |
| | 200mm white, | | | | 200mm white, for | | |
| | for cleaning | | | | cleaning | | |
| | laboratory | | | | laboratory | | |
| | spills, single | | | | spills, single | | |
| XXX | | | | XXX | | | |
| ^^^ | LOT 50 | | | | LOT 50 | | |
| XXX | | | | XXX | | | 100 |
| | SURGICAL | 20 pcs | 20 pcs | 518 | SURGICAL | 20 pcs | 20 pcs |
| | | | | | INSTRUMENT: | union carronna Philippinist (196 | |
| 518 | I III2 I KUMENT. | | 1 | 111 | Ovum | | 1 |
| | INSTRUMENT: | | | 111 | Ovuill | 1 | 1 |
| | Ovum | | | | | | |
| | | | | | Forceps, 5 1/2 - 6 inches | | |

| | 2007 | | | | II | (139-18cm | | |
|-----|------|-------------------------|--------|--------|-----|------------------------|---------|--------|
| | XXX | LOT 84 | | | | or 180mm) | | |
| | | HEMATOLOG | | | XXX | | | |
| | | Y | | | | LOT 84 | | |
| | | REAGENTS | | | | REAGENTS, | | 1 |
| | | AND | | | | CONTROLS & | | |
| | | SUPPLIES | | | | ACCESSORIE | | |
| | | WITH | 1 | | | S FOR DRY | | |
| | | PROVISION | | | | CHEMISTRY, | | |
| | | OF | | | | WINNING BIDDER TO | | |
| | | AUTOMATED | | | | LEND A | | |
| 1 | | ANALYZER. | | | | FULLY | | |
| | | WINNING | | j | | AUTOMATED | | |
| 1 1 | | BIDDER TO | | | | FLOOR TYPE | | |
| | | PROVIDE | | | | DRY | | |
| | | ANALYZER | | | | CHEMISTRY | | |
| | | WITH | | | | ANALYZER, | | |
| | Ì | MULTI- | | | | FREE OF | | |
| | • | DISTRIBUTI | | | | CHARGE PREV. | | |
| | | ON | | | | MAINTENAN | | 224. |
| | | SAMPLING SYSTEM, | | | | CE, PARTS | | |
| | | DOUBLE | | | | AND REPAIR, | | |
| | | HYDRODYNA | | | | WITH LIS | | |
| | | MIC | | | | CONNECTIVI | | |
| | | SEQUENTIAL | | | | TY. | | |
| | | SYSTEM AND | | | | | | |
| | | HAS | | | | | | |
| | | CUSTOMIZE D DILUTION | | | | | | |
| | | RATIO AND | | | | | | |
| 1 | | LIS | | | | | | |
| | | CONNECTIVI | | | | | | |
| | | TY | | | | | | |
| | XXX | | | | XXX | 0.0000000 | 25 have | 25 hov |
| , | 819 | ALT/5 | 35 box | 35 box | 819 | ALTV/5 Pack/300 | 35 box | 35 box |
| | | Pack/250 | | | | Slides | | |
| | | Slides | 25 hav | 35 box | 836 | LDHI/5 | 35 box | 35 box |
| | 836 | LDH/5 Pack/250 | 35 box | 33 00% | 030 | Pack/250 | 00 00. | |
| | | Slides | | | | Slides | | |
| | XXX | Sildes | | | XXX | | | |
| | | LOT 86 | | | | LOT 86 | | |
| | | REAGENTS, | | | | REAGENTS | | |
| | | CONTROL, | | | | FOR | | |
| | | AND | | | | ENHANCED CHEMILUMI | | |
| | | ACCESSORIE | | | | NESCENCE | | |
| | 11 | S FOR GLYCOSYLAT | | | | IMMUNOLOG | | |
| 2 | | ED | | | | Y, WINNING | | |
| | | HEMOGLOBI | | | | BIDDER TO | | |
| | | N | | | | PROVIDE | | |
| | | (HBA1C) | | | | ANALYZER | | |
| | | TESTING | | | | WITH | | |
| | | SYSTEM | | | | ENHANCED, CHEMILUMI | | |
| | | MACHINE | | | | NISCENCE | | |
| | | WITH HIGH PERFORMAN | | | | PRINCIPLE, | | |
| | | CE LIQUID | | | | SHALL | | |
| | | CHROMATOG | | | | PROVIDE | | |
| | | RAPHY | | | | | | |
| | | | | | | | | |

| | PRINCIPLE. TO LEND FULLY AUTOMATED MACHINE WITH LIS CONNECTIVI TY | | | | CALIBRATOR S, CONTROLS AND CONSUMABL ES FOR TESTS FREE OF CHARGE. ANALYZER SHOULD BE ABLE TO DETECT CLOT CORRECTIO N, BUBBLE DETECTION, FLUID LEVEL SENSING AND SHORT SAMPLE DETECTION. USES DISPOSABLE TIPS FOR SAMPLES, USES READY TO USE WASH SOLUTION, DOES NOT REQUIRE WATER SYSTEM. FREE OF CHARGE PREVENTIVE MAINTENAN CE,PARTS AND REPAIR, WITH LIS CONNECTIVI TY. | | |
|-----|-------------------------------------------------------------------|--------|--------|-----|----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|--------|--------|
| | | | | XXX | | | |
| 875 | NT PRO-BNP, 100 TESTS | 10 box | 10 box | 875 | NT-PROBNP II Reagent, 100 Wells | 10 box | 10 box |
| 877 | PSA, 100 TESTS | 10 box | 10 box | 877 | TOTAL PSA II REAGENT, 100 TESTS | 10 box | 10 box |
| 878 | TSH 100 Tests/Box | 10 box | 10 box | 878 | TSH 3 REAGENT PACK, 100 Wells | 10 box | TO DOX |
| XXX | | - | | XXX | - | | |

XXX XXX XXX

XXX XXX XXX

| 5 | PREVIOUS ITEMS TO BE BID | AMENDMENT TO ITEMS TO BE BID |
|---|--------------------------|--------------------------------------------------|
| | | Please ANNEX "A" for the Revised Items to be Bid |
| 1 | | |

Bidders who have already submitted bids are hereby informed that they are allowed to modify or withdraw their bids, if necessary, before the scheduled opening of bid envelopes.

For modifications in your original submitted bid, kindly submit new bidding documents (sealed and marked as "Modified Bid") and have these received at the Office of the Bids and Awards Secretariat. Bid modifications received after the deadline shall not be considered and shall be returned to the bidder unopened.

Conforme:

Signature Over Printed Name

ATTY. JOSEPHINE C. LATI-BAGAOISAN 74

Chairperson

REVISED ITEMS TO BE BID

| ITEM NO | QTY | UOM | APPROVED UNIT PRICE (PHP) | APPROVED BUDGET FOR THE CONTRACT (PHP) | DESCRIPTION |
|------------|-----|-----|---------------------------------|----------------------------------------|------------------------------------------------------------------------------------------------------------------|
| | | | | | LOT 1 |
| 1 | 200 | pcs | 1,010.00 | , | 190 ml syringe with coil tube (for power injector IMAXEON Salient TM) |
| 2 | 200 | pcs | 1,010.00 | • | 200 ml front loading syringe with- fil straw for optivantage power injector with 60" coiled tube |
| 3 | 120 | pcs | 820.00 | | 200ml syringe for Power Injector with Hand-fil |
| 4 | 400 | pcs | 600.00 | 240,000.00 | 60" coiled Y tubing connector for dual head power injector |
| 5 | 2 | box | 10,000.00 | 20,000.00 | Thermal Paper high density type II, 110mm x 20m, 10 rolls/box compatible to Ultrasound Printer (Sony) |
| 6 | 4 | box | 10,000.00 | 40,000.00 | Thermal Paper high density-type II, 84mm x 13.5m 10rolls/box, compatible to Ultrasound Printer (Sony, UP-D711MD) |
| | | | | | LOT 2 |
| 7 | 350 | pcs | 576.00 | 201,600.00 | ADHESIVE PLASTER 2", Strong adhesive, porous fabric, skintone 5cm x 5m (2") |
| 8 | 350 | pcs | 720.00 | 252,000.00 | ADHESIVE PLASTER 4", Strong adhesive, porous fabric, skintone 10cm x 5m (4") |
| 9 | 50 | pcs | 420.00 | 21,000.00 | ADHESIVE PLASTER 1", Strong adhesive, porous fabric, skintone 2.5cm x 5m (1") |
| 10 | 50 | pcs | 1,000.00 | 50,000.00 | ADHESIVE PLASTER 6X6", skintone porous fabric, strong adhesive |
| | | | | | LOT 3 |

| 11 | 2202 | galllon | 350.00 | | Alcohol, ethyl 70% - antiseptic & disinfectantm, scented 3785/gallon |
|----|------|---------|--------|------------|----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 12 | 4150 | gallon | 400.00 | | Alcohol, isoprophyl, 70% - Antiseptic & Disinfectant 1 gallon |
| 13 | 1220 | bot | 120.00 | 146,400.00 | Alcohol, Isoprophyl, 70% - antiseptic & disinfectant, scented 500ml |
| | | | | | LOT 4 |
| 14 | 40 | pcs | 173.00 | | ANESTHESIA MASK 0, with inflatable valve, transparent crown and ergonomic cushion design |
| 15 | 40 | pcs | 173.00 | 6,920.00 | ANESTHESIA MASK 1, with inflatable valve, transparent crown and ergonomic cushion design |
| 16 | 20 | pcs | 173.00 | 3,460.00 | ANESTHESIA MASK 2, with inflatable valve, transparent crown and ergonomic cushion design |
| 17 | 20 | pcs | 173.00 | 3,460.00 | ANESTHESIA MASK 3, with inflatable valve, transparent crown and ergonomic cushion design |
| 18 | 20 | pcs | 173.00 | 3,460.00 | ANESTHESIA MASK 4, with inflatable valve, transparent crown and ergonomic cushion design |
| 19 | 20 | pcs | 173.00 | 3,460.00 | ANESTHESIA MASK 5, with inflatable valve, transparent crown and ergonomic cushion design |
| | | | | | LOT 5 |
| 20 | 1708 | kit | 350.00 | 597,800.00 | Arterio-Venous Fistula Dressing Kit, consisting of 1 tray, 3 pcs povidone pads, 3-pcs. alcohol pre pads, 1 roll surgical tape 3m, 6pairs clean gloves, 1pc drape, 2pcs, 10cc syringe, 4pcs big cherries, 2pcs small cherries, 2pcs face mask |
| 21 | 1500 | pcs | 35.00 | 52,500.00 | Arterio-Venous Fistula Needle G. 17, with fixed needle and with backeye for arterial. |

| 22 | 1500 | pcs | 35.00 | 52,500.00 | Arterio-Venous Fistula Needle G. 17, with fixed needle for venous |
|----|------|------|----------|--------------|---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 23 | 6000 | pcs | 35.00 | • | Arterio-Venous Fistula, needle gauge 16 with fixed needle for venous |
| 24 | 6000 | pcs | 35.00 | • | Arterio-Venous Fistula, needle guage 16 with fixed needle with back eye for arterial |
| 25 | 1000 | pcs | 2,500.00 | | Dialyzer High Flux, color coded blood port and with the following clearances: Urea= 285-290, Creatinine= 260-290, Phosphate=242-260, Vit. B 12=180-225, INULIN= 117-135, MYOGLOBIN =90-110 |
| 26 | 979 | pcs | 1,500.00 | 1,468,500.00 | Dialyzer Low Flux, with Color Coded Blood Port & with the ff: Clearances; Urea 245 - 260, Creatinine 210 - 240, Phosphate 170 - 195, Vit.B 12 90 - 115 (Size 15) |
| 27 | 4500 | pcs | 1,600.00 | 7,200,000.00 | Dialyzer Low Flux, with color coded blood port & with the ff. clearances; Urea = 250 - 275, Creatinine= 220-260, Phosphate= 185 - 215, Vit.B 12 = 110 -135 |
| 28 | 7000 | pcs | 350.00 | 2,450,000.00 | Hemodialysis BloodLines, 3 in 1 with medication port red and blue lines and with pillow at arterial lines and venous medication port after the venous chamber |
| 29 | 100 | sack | 1,200.00 | 120,000.00 | Industrial Salt 12.5 kilos per bags for water softening process |
| 30 | 600 | kit | 5,000.00 | 3,000,000.00 | Intrajugular Catheter Triple Lumen French 11.5 to 12.5 L - 14 - 20cm (Curved) Color coded blood port, Robust lower connector & with silicon extension (Consumable for insertion of Hemodialysis Access) |
| 31 | 2500 | kit | 350.00 | 875,000.00 | Intrajugular dressing kit consisting of 1 tray, 3 pcs povidone pads, 3 pcs. alcohol prep pads,, 1 roll surgical tape 3m, 6 pairs clean |

| | | | | | gloves, 1 pc. drape, 2 pcs. 10cc syringe, 5 pcs sterile gauze 4x4, 2 pcs face mask, 2 pairs sterile gloves size 7 |
|----|------|--------|----------|------------|--------------------------------------------------------------------------------------------------------------------------------------|
| 32 | 60 | pcs | 650.00 | | Sediment Filter Cartridge 20", with nominal micron rating of 1um, (Small) |
| 33 | 12 | pcs | 2,500.00 | · | Sediment filter cartridge 20", with normal micron rating of 5 um filter (Big) |
| 34 | 90 | pcs | 650.00 | 58,500.00 | Sediment Filter Cartridge 20", with nominal micron rating of 5um (Small) |
| 35 | 1630 | gal | 400.00 | 652,000.00 | Sodium Hypochlorite 3.785 liters/gal, must be compatible with existing RO system and Hemodialysis machine |
| 36 | 8 | bottle | 1,750.00 | 14,000.00 | Water Quality Test Strips for hardness, 50's/btl |
| 37 | 8 | bottle | 1,750.00 | 14,000.00 | Water Quality Test Strips for Chlorine, 100's/btl |
| 38 | 20 | pcs | 350.00 | 7,000.00 | Weighing Scale for Peritoneal Solution (Spring Type), with min/max weight capacity of 0.5kg - 5.0kgs |
| | | | | | LOT 6 |
| 39 | 1300 | pcs | 120.00 | 156,000.00 | Abdominal Suction Connecting Tube, with yankuer handle, disposable, standard tip with vent 1/4 inches x 2.5 m, removable tip sterile |
| 40 | 240 | box | 204.00 | 48,960.00 | Applicator Stick , Sterile, wooden, 6 inches, 1000's |
| 41 | 250 | pcs | 100.00 | 25,000.00 | ARM SLING, SMALL, with adjustable shoulder strap, 70% polyester, latex free |
| 42 | 200 | pcs | 100.00 | 20,000.00 | ARM SLING, MEDIUM, with adjustable shoulder strap, 70% polyester, latex free |

| 43 | 250 | pcs | 100.00 | ŕ | ARM SLING, LARGE, with adjustable shoulder strap, 70% polyester, latex free |
|----|------|-------|--------|-----------|-------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 44 | 3100 | pcs | 24.00 | • | Blade Surgical Stainless No. 10, (individually wrapped and sealed in aluminum foil to maintain sterility) |
| 45 | 200 | pcs | 24.00 | • | Blade Surgical Stainless No. 11, (individually wrapped and sealed in aluminum foil to maintain sterility) |
| 46 | 200 | pcs | 24.00 | 4,800.00 | Blade Surgical Stainless No. 12, (individually wrapped and sealed in aluminum foil to maintain sterility) |
| 47 | 100 | pcs | 24.00 | 2,400.00 | Blade Surgical Stainless No. 15, (individually wrapped and sealed in aluminum foil to maintain sterility) |
| 48 | 3100 | pcs | 24.00 | 74,400.00 | Blade Surgical Stainless No. 20, (individually wrapped and sealed in aluminum foil to maintain sterility) |
| 49 | 500 | piece | 50.00 | 25,000.00 | BNG G.23, (Scalp Vein Needle) Gauge 23, micro-siliconized precision bevel, interlocking wings with structured grip surface, latex- free, kink-resistant, pc |
| 50 | 500 | piece | 50.00 | 25,000.00 | BNG G.21, (Scalp Vein Needle) Gauge 21, micro-siliconized precision bevel, interlocking wings with structured grip surface, latex- free, kink-resistant, pc |
| 51 | 40 | pcs | 850.00 | 34,000.00 | (Pediatric) 1L |
| 52 | 40 | pcs | 850.00 | 34,000.00 | Breathing Circuit for Anesthesia 2L |
| 53 | 40 | pcs | 850.00 | 34,000.00 | 108" Single Limb |
| 54 | 30 | pcs | 850.00 | 25,500.00 | at least 1.5m Double Limb |
| 55 | 70 | pcs | 850.00 | 59,500.00 | Breathing Circuit for Anesthesia (Adult) Single Limb Long with 3 Liter Bag 72", (smoothbore, PVC expandable, EVA material, kink |

| | | | | | resistant with breathing bag and filter, with CPR & CGMP) |
|----|------|------|----------|------------|----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 56 | 70 | pcs | 850.00 | , | Breathing Circuit for Anesthesia (Pediatric) Single Limb Long with 0.5 Liter Bag, (smoothbore, PVC, EVA material, kink resistant, adult lenght 1.2-1.8m, with breathing bag and filter, with CPR & CGMP) |
| 57 | 90 | pcs | 850.00 | · | Breathing Circuit for Anesthesia (Pediatric) Single Limb Short with 1 Liter Bag 40", (smoothbore, PVC expandable, EVA material, kink resistant, with breathing bag and filter, with CPR & CGMP) |
| 58 | 13 | pail | 7,850.00 | , | Carbon Dioxide, Absobent 5 gallon plastic pail with clearly obsevable color change that signals a clinical point of exhaustion and need for replenishment |
| 59 | 300 | pcs | 72.00 | 21,600.00 | CATHETER FOLEY French 10 (2-WAY), sterile, latex, silicon coated |
| 60 | 180 | pcs | 72.00 | 12,960.00 | CATHETER FOLEY French 12 (2-WAY), sterile, latex, silicon coated |
| 61 | 620 | pcs | 72.00 | 44,640.00 | CATHETER FOLEY French 14 (2-WAY), sterile, latex, silicon coated |
| 62 | 2000 | pcs | 72.00 | 144,000.00 | CATHETER FOLEY French 16 (2-WAY), sterile, latex, silicon coated |
| 63 | 110 | pcs | 100.00 | 11,000.00 | CATHETER FOLEY French 22, (3-WAY) sterile, latex, silicon coated |
| 64 | 110 | pcs | 100.00 | 11,000.00 | WAY) sterile, latex, silicon coated |
| 65 | 450 | pcs | 72.00 | 32,400.00 | CATHETER FOLEY French 8 (2- WAY), sterile, latex, silicon coated |
| 66 | 250 | pcs | 127.00 | 31,750.00 | latex, sterile, with 2 opposing eyes, pc |
| 67 | 100 | pcs | 127.00 | 12,700.00 | latex, sterile, with opposing eyes |
| 68 | 55 | pcs | 5,000.00 | 275,000.00 | Cervical Collar (Rigid) Adult |

| 69 | 45 | pcs | 5,000.00 | 225,000.00 | Cervical Collar (Rigid) Pedia |
|----|-------|------|----------|------------|----------------------------------------------------------------------------------------------------------------------------------------|
| 70 | 50 | pcs | 1,000.00 | • | Cervical Collar - Soft, Single Use (Adult) |
| 71 | 30 | pcs | 1,000.00 | • | Cervical Collar - Soft, Single Use (Pedia) |
| 72 | 1066 | roll | 200.00 | 213,200.00 | Cotton - 100% Cotton, Pure White, Absorbable, 400grams |
| 73 | 510 | pack | 70.00 | 35,700.00 | Cotton Balls - 100% Pure Cotton, 300 balls/Pack |
| 74 | 50 | pack | 50.00 | 2,500.00 | Cotton buds, pliable paper stems, absorbent 50 tips/pack |
| 75 | 204 | pack | 72.00 | 14,688.00 | Cotton Pledget - 100% cotton, pure white tip, sterile, disposable, 6 inches wooden, individual wrap 50's |
| 76 | 10 | pcs | 150.00 | 1,500.00 | Cotton Plier |
| 77 | 100 | roll | 224.00 | 22,400.00 | Cotton rolls, 100% cotton, pure white, absorbable, sterile for medical use, 400g |
| 78 | 7000 | pcs | 48.00 | 336,000.00 | Diaper Adult (Large), disposable, soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times. |
| 79 | 10000 | pcs | 48.00 | 480,000.00 | soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times. |
| 80 | 10000 | pcs | 48.00 | 480,000.00 | Diaper Adult (XL), disposable, Sof cotton or clothlike backsheet, Goo absorbency, with PP tapes/sticky and can be use many times. |
| 81 | 500 | pcs | 24.00 | 12,000.00 | disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times |
| 82 | 1000 | pcs | 24.00 | 24,000.00 | Diaper Pediatric (Medium), disposable, Soft cotton or clothlik |

| | | | | | backsheet, Good absorbency, with PP tapes/sticky and can be use many times |
|----|------|------|-----------|------------|---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 83 | 500 | pcs | 24.00 | · | Diaper Pediatric (Newborn), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times |
| 84 | 500 | pcs | 24.00 | | Diaper Pediatric (Large), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times |
| 85 | 2 | unit | 1,500.00 | 3,000.00 | Digital Weighing Scale (Pedia) |
| 86 | 9 | unit | 10,000.00 | 90,000.00 | DIGITAL WEIGHING SCALE (infant),, With extra latge weighing tray, with dual graduation ranging from neonatal to pediatric care(accurate to 5 grams-20 kgs.), with chargeable battery, |
| 87 | 4500 | pcs | 42.00 | 189,000.00 | Disposable Underpads - at least 60 x 90, non-woven top layer, waterproof backing and sealed edges, with absorbent core made of virgin pulp fiber. |
| 88 | 200 | pcs | 42.00 | 8,400.00 | rubber, 70% polyster, sterile, Cotton, includes Metal Clips |
| 89 | 400 | pcs | 54.00 | 21,600.00 | rubber, 70% polyster, sterile, Cotton, includes Metal Clips |
| 90 | 500 | pcs | 60.00 | 30,000.00 | rubber, 70% polyster, sterile, Cotton, includes Metal Clips |
| 91 | 800 | pcs | 36.00 | 28,800.00 | Extension tubings 100cm, (small bore high pressure extension line, kink resistant PVC tubings, length, male luerlock at one end and female luerlock at the other end, metal strip w/ CPR and CGMP |

| 92 | 150 | pcs | 10.00 | • | Gauze 4 x 4, individual wrapped, 2 ply, high absorbent, 100% bleach cotton pad |
|-----|------|------|----------|------------|--------------------------------------------------------------------------------------------------------------------------------|
| 93 | 1399 | roll | 1,440.00 | • | Gauze Absorbent mesh - unsterile, 24 x 28 mesh, at least 36" x 100 yards, 2ply, highly absorbent, 100% Bleach Cotton |
| 94 | 95 | pcs | 550.00 | | Haemostatic absorbable gelatin sponge 80x 50x10mm |
| 95 | 8500 | pcs | 36.00 | 306,000.00 | Heparin-Lock Intravenous, sterile, latex-free, transparent, luer lock, priming volume at least 0.16ml |
| 96 | 300 | pcs | 2.00 | 600.00 | Hypodermic Disposable Needle G.23 x 1 to 1 1/2" - sterile, disposable |
| 97 | 4100 | pcs | 2.00 | 8,200.00 | hypodermic needle gauge 19 x 1 1/2", sterile, disposable |
| 98 | 2000 | pcs | 3.50 | 7,000.00 | Hypodermic Needle Gauge 25 g x 1 sterile non-toxic, nonpyrogenic disposable |
| 99 | 400 | pcs | 2.00 | 800.00 | Hypodermic Needle Gauge 27 x 1/2", sterile, disposable |
| 100 | 5000 | pcs | 4.00 | 20,000.00 | ID Bracelet (Blue), made of PVC material, durable, snap-on lock for secure, write-on type and insert and insert card type, pc |
| 101 | 2000 | pcs | 4.00 | 8,000.00 | ID Bracelet (Pink), made of PVC material, durable, snap-on lock for secure, write-on type and insert and insert card type, pc |
| 102 | 8500 | pcs | 4.00 | 34,000.00 | ID Bracelet (White), made of PVC material, durable, snap-on lock for secure, write-on type and insert and insert card type, pc |
| 103 | 700 | box | 958.90 | 671,230.00 | Injection pad, sterile, adhesive, absorbable hemostatic pressure dressing, 36 mm, for medical use, 100's |
| 104 | 6000 | pcs | 10.00 | 60,000.00 | Lubricating Jelly, sterile, sachet, water-soluble, 10grams |

| 105 | 3000 | pcs | 220.00 | • | Mucus Extractor, with funnel connector, with extra cap and label to function as specimen container after collection Fr. 10 |
|-----|-------|-----|--------|------------|----------------------------------------------------------------------------------------------------------------------------------------------|
| 106 | 10 | pcs | 108.00 | , | Penrose Drain tubing, sterile, disposable, pure rubber latex, x- ray opaque 1" |
| 107 | 70 | pcs | 108.00 | 7,560.00 | Penrose Drain Tubing, sterile, disposable, pure rubber latex, x- ray opaque 1/2" |
| 108 | 70 | pcs | 108.00 | | Penrose Drain Tubing, sterile, disposable, pure rubber latex, x- ray opaque 1/4 |
| 109 | 10 | pcs | 108.00 | 1,080.00 | Penrose Drain tubing, sterile, disposable, pure rubber latex, x- ray opaque 3/4" |
| 110 | 2100 | pcs | 35.00 | 73,500.00 | SUCTION CATHETER FR. 5, sterile with thumb control, rounded open tip with two lateral eye |
| 111 | 3250 | pcs | 35.00 | 113,750.00 | SUCTION CATHETER FR. 8, sterile with thumb control, rounded open tip with two lateral eye |
| 112 | 1500 | pcs | 35.00 | 52,500.00 | SUCTION CATHETER FR. 10, sterile with thumb control, rounded open tip with two lateral eye |
| 113 | 1500 | pcs | 35.00 | 52,500.00 | SUCTION CATHETER FR. 12, sterile with thumb control, rounded open tip with two lateral eye |
| 114 | 700 | pcs | 35.00 | 24,500.00 | SUCTION CATHETER FR. 14, sterile with thumb control, rounded open tip with two lateral eye |
| 115 | 3250 | pcs | 35.00 | 113,750.00 | SUCTION CATHETER FR. 16, sterile with thumb control, rounded open tip with two lateral eye |
| 116 | 43000 | pcs | 20.40 | 877,200.00 | SYRINGE DISPOSABLE GAUGE 21 (10ML), sterile, disposable, luer lock type, with Certificate of Medical Device Registration CPR & CGMP required |

| 117 | 2500 | pcs | 36.00 | | SYRINGE DISPOSABLE GAUGE 21 (50ML), sterile, disposable, luer lock type, with Certificate of Medical Device Registration CPR & CGMP required |
|-----|-------|-----|-------|--------------|----------------------------------------------------------------------------------------------------------------------------------------------------------|
| 118 | 6000 | pcs | 24.00 | _ , , , | SYRINGE DISPOSABLE GAUGE 22 (20ML), sterile, disposable, luer lock type, with Certificate of Medical Device Registration CPR & CGMP required |
| 119 | 22000 | pcs | 6.00 | , | Syringe Insulin Gauge 28 x 1/2 inch (1ML),, sterile, disposable with Certificate of Medical Device Registration CPR & CGMP required |
| 120 | 66500 | pcs | 15.00 | 997,500.00 | Syringe with Needle Gauge 21-23 x 1 inch (3ML), sterile, disposable, luer lock type, with Certificate of Medical Device Registration CPR & CGMP required |
| 121 | 80000 | pcs | 19.20 | 1,536,000.00 | Syringe with Needle Gauge 21-23 X 1inch (5ML), sterile, disposable, luer lock type, with Certificate of Medical Device Registration CPR & CGMP required |
| 122 | 17200 | pcs | 10.00 | 172,000.00 | Syringe with Needle Gauge 25, (1ML), sterile, disposable, gauge 25 needle with Certificate of Medical Device Registration CPR & CGMP required |
| 123 | 3500 | pcs | 25.00 | 87,500.00 | Tape surgical, paper, hypoallergenic, skin friendly, painless when tearing, comfortable, breathable, waterproof, 25mm x 9m (1 in x 10 yrds) |
| 124 | 6500 | pcs | 20.00 | 130,000.00 | Tape surgical, paper, hypoallergenic, skin friendly, painless when tearing, comfortable, non-woven, 1.25cm x 9.2cm (1/2 inch) |
| 125 | 2200 | pcs | 6.00 | 13,200.00 | Tongue Depressor, individualy wrap |

| 126 | 180 | box | 1,800.00 | • | Tourniquet Disposable, Stretch Latex Free, Flat, Blue, 2.54 x 45.72cm (1" x 18"), 25's/box |
|-----|-------|-----|----------|--------------|----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| | | | | | LOT 7 |
| 127 | 1600 | pcs | 160.00 | 256,000.00 | Bacterial Filter (For Anesthesia Machine & Ventilator), with electrostatic hydrophobic membrane that protects againts contamination. |
| 128 | 2850 | pcs | 90.00 | 256,500.00 | Blood Transfusion Set clear, (clear and transparent, soft tubings with customized length, highly risk resistant tubings, excellent roller for better flow control, smooth filter mesh, luer lock, CPR & CGMP required) |
| 129 | 40000 | pcs | 40.00 | 1,600,000.00 | HGT STRIP, individually wrapped, lancing device and lancet included; can be used for adult and neonates, at least 50 glucometer included |
| 130 | 1000 | pcs | 576.00 | 576,000.00 | HME Filter with MDI delivery, rotatable, use for dual purpose, MDI delivery and passive humidifier |
| 131 | 21250 | pcs | 100.00 | 2,125,000.00 | Intravenous Cannula Gauge 18 (Safety), sterile, gauge 18 x 1.75 inches, winged type, with smooth catheter material that must be felt during insertion, hub design for pre-attachment of syringe, unique safety tip, sharp bevel, no change in hand technique during insertion, CPR & CGMP required |
| 132 | 17500 | pcs | 100.00 | 1,750,000.00 | Intravenous Cannula Gauge 20 (Safety), sterile, gauge 20 x 1.25 inches, winged type, with smooth catheter material that must be felt during insertion, hub design for pre-attachment of syringe, unique safety tip, sharp bevel, no change in hand technique during insertion, CPR & CGMP required |

| 133 | 13750 | pcs | 100.00 | | Intravenous Cannula Gauge 22 (Safety), sterile, gauge 22 x 1 inches, winged type, with smooth catheter material that must be felt during insertion, hub design for pre-attachment of syringe, unique safety tip, sharp bevel, no change in hand technique during insertion, CPR & CGMP required |
|-----|-------|-----|--------|--------------|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 134 | 25250 | pcs | 100.00 | | Intravenous Cannula Gauge 24 (Safety), sterile, gauge 24 x 1 inches, winged type, with smooth catheter material that must be felt during insertion, hub design for pre-attachment of syringe, unique safety tip, sharp bevel, no change in hand technique during insertion, CPR & CGMP required |
| 135 | 21250 | pcs | 30.00 | 637,500.00 | Intravenous set (IV) Macrodrip, PVC based, transparent, supple & resistant to kinking, dual end amber tubing, excellent roller clamp for better flow control, operational length smooth adjustment for transfusion speed with Y-port, luer lock with CPR & CGMP required |
| 136 | 8000 | pcs | 30.00 | 240,000.00 | Intravenous Set (IV) Microdrip, PVC based, transparent, supple & resistant to kinking, dual end amber tubing, excellent roller clamp for better flow control, operational length smooth adjustment for transfusion speed with Y-port, luer lock with CPR & CGMP required |
| 137 | 13300 | pcs | 150.00 | 1,995,000.00 | Volumetric Infusion Set, with Y- Port, screw type, luer lock fitting, 150ml with CPR & CGMP required, pc or its equivalent |
| | | | | | LOT 8 |
| 138 | 100 | pcs | 72.00 | 7,200.00 | CATHETER FOLEY French 18 (2- WAY), sterile, latex, silicon coated pc |

| 139 | 320 | pcs | 72.00 | 23,040.00 | CATHETER FOLEY French 20 (2- WAY), sterile, latex, silicon coated |
|-----|-----|------|-----------|------------|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 140 | 50 | pcs | 72.00 | 3,600.00 | CATHETER FOLEY French 22 (2- WAY), sterile, latex, silicon coated |
| | | | | | LOT 9 |
| 141 | 25 | unit | 11,000.00 | 275,000.00 | Droplight, ergonomically designed, flexible neck for easy use, easily adjustable height, light and portable with steady base, with lamp cover for safety, E27 lamp socket, comes with 220V lamp |
| 142 | 10 | pcs | 5,000.00 | 50,000.00 | Foot Stool, Stainless with rubber on top, standard size, half-stool, H4xL14xW10inches, foot with rubber cover |
| 143 | 2 | set | 10,000.00 | 20,000.00 | Forceps Instrument Dental, Adult Size, Stainless Steel |
| 144 | 8 | pcs | 35,000.00 | 280,000.00 | infant bassinet with mattress stainless steel frame, bassinete made of clear fiberglass / acrylic , can be positioned to trandelenburg or reverse trendelenburg position, with IV attachment, with lockable wheels |
| 145 | 30 | unit | 8,000.00 | 240,000.00 | IV Stand, Stainless steel tubing, 2 section IV pole with 4 hooks, adjustable height:approx 52.5 inches-96 inches, with twist lock, 5 leg stainless steel heavy base with 5cm diameter lockable caster wheels |
| 146 | 15 | pcs | 5,000.00 | 75,000.00 | Mayo Table, with foot pedal height control adjusts the height from atleast 38 1/4" to 63 7/8". Weighted flat base easily slides under OR tables, with removable 16" x 21" stainless steel tray. |
| 147 | 5 | box | 14,500.00 | 72,500.00 | Minor Set, 2 Kelly forceps curved, inches, 2 Knife handle, 2 Mayo scissorscurved 8 inches, 2 Mayo scissors straight 8 inches, 2 Metal tray cover 8 inches x 12 inches, 2 Tissue forceps with teeth, 2 Skin |

| | | | | | retractors, 2 Needle holder 8 inches, 2 Mosquito forcep curved, 2 Metzenbaum scissors 8 inches, 2 Tissue forceps without teeth, 2 Tissue forceps with teeth, 2 Thumb forceps, |
|-----|----|-------|-----------|------------|----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 148 | 8 | unit | 11,750.00 | 94,000.00 | Nebulizer, non-heating compressor, dimension 190mm (W)x150mm (D) or less, weight: 1.5 to 2kg. sound level: 53dBa, pressure range 30-36psi, Liter flow range: 4-8lpm, particle size range: 0.5 to 5 microns, medication capacity: 6-7ml, operating temperature/humidity: 50F to 10F (10C to 40C) |
| 149 | 30 | pcs | 700.00 | 21,000.00 | Paraffin Wax (Therapeutic) Scented 1 lb/pack, |
| 150 | 70 | piece | 380.00 | 26,600.00 | Paraffin Wax - Unscented, Pure, 5kg |
| 151 | 20 | pcs | 8,000.00 | 160,000.00 | Stethoscope Adult, Dual sided chest piece design for easier grip and maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting 150 pressure on the chest piece, Softsealing ear tips, provide and |
| | | | | | excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals |
| | | | | | -Color: Plum |
| | | | | | -Warranty: 2 years |
| 152 | 10 | pcs | 7,800.00 | 78,000.00 | Stethoscope Neonatal, Applications: Infant, Physical Assessment and Diagnostic- Binaural Construction: Single lumen-Chestpiece Finish: Machined stainless steel-Chestpiece |

| | | | | | Technology: Double-sided- Chestpiece Weight (metric): at least 30 g-Diaphragm Diameter (metric): at least 2.7 cm- Diaphragm Materials: Epoxy/Fiberglas-Diaphragm Type: Floating diaphragm-Eartip Type: Soft Sealing-Environmental claim being made: Yes-Environment claim relates to: Product-Headset Material: Anodized Aluminum- Model: Infant-Overall Diameter (metric): at least 1.06 cm-Overall Length (metric): at least 71 cm- Patient: Infant, Neonatal- Small Diaphragm Diameter (metric): at least 1.9 cm |
|-----|-----|------|-----------|------------|---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 153 | 15 | pcs | 9,600.00 | 144,000.00 | Stethoscope Pedia, dual sided chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 2 years warranty, color lemon lime |
| 154 | 100 | pcs | 200.00 | 20,000.00 | Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile |
| 155 | 740 | pcs | 50.00 | 37,000.00 | Vaginal Speculum, Disposable (Medium) |
| 156 | 740 | pcs | 50.00 | 37,000.00 | Vaginal Speculum, Disposable (Small) |
| 157 | 7 | unit | 25,000.00 | 175,000.00 | Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation:100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg |

| | | | | | LOT 10 |
|-----|------|--------|-----------|------------|------------------------------------------------------------------------------------------------|
| 158 | 5 | pcs | 500.00 | , | Aspirating Syringe Dental, Stainless Steel, Standard Size |
| 159 | 350 | pcs | 65.00 | , | BATH SOAP (BAR), with germicidal content 135grams |
| 160 | 12 | packs | 200.00 | 2,400.00 | Bite Wax, Yellow, Square shape |
| 161 | 4 | pcs | 1,000.00 | 4,000.00 | Borosilicate Glass Beaker, 500ml |
| 162 | 4 | kg | 100.00 | 400.00 | Castone Powder, 1kg, Yellow Color |
| 163 | 1 | set | 12,500.00 | 12,500.00 | Composite Filling Materials |
| 164 | 20 | gallon | 800.00 | | Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon |
| 165 | 520 | bot | 668.75 | 347,750.00 | Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g |
| 166 | 200 | pcs | 3.00 | 600.00 | Disposable Paper Cup 6.5oz |
| 167 | 800 | bot | 120.00 | 96,000.00 | Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) |
| 168 | 1500 | pcs | 36.00 | 54,000.00 | DVD-R, 4.7GB |
| 169 | 1 | packs | 5,000.00 | 5,000.00 | Embedding Tissue Tamper 2pcs/pack |
| 170 | 3 | pcs | 1,000.00 | 3,000.00 | Erlenmeyer flask 1000ml glass |
| 171 | 10 | pcs | 150.00 | 1,500.00 | Excavator Instrument Dental, Stainless steel, Standard Size |
| 172 | 10 | pcs | 150.00 | 1,500.00 | Explorer Instrument Dental, Stainless steel, Standard Size |
| 173 | 5 | pcs | 800.00 | 4,000.00 | Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinde |
| 174 | 2 | pcs | 800.00 | 1,600.00 | Graduated Cylinder, 100ml |
| 175 | 1 | pcs | 2,000.00 | 2,000.00 | |
| 176 | 1 | bot | 420.00 | 420.00 | Hayem's Diluting Fluid (RBC) 100mL |

| 177 | 120 | pcs | 840.00 | , | Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4". |
|-----|-------|------|----------|------------|---------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 178 | 230 | bot | 130.00 | | Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle |
| 179 | 70 | gal | 350.00 | | Liquid Hand Soap, with anti- bacterial content |
| 180 | 20 | pcs | 200.00 | 4,000.00 | Mouth mirror with handle for dental use |
| 181 | 30 | pcs | 8,000.00 | 240,000.00 | Oxygen Tank Stand/Holder, must hold a standard oxygen tank with lock |
| 182 | 150 | pack | 230.00 | 34,500.00 | Petri Dish, Disposable plastic, Sterile 150 x 15mm, 10's |
| 183 | 200 | pcs | 15.00 | 3,000.00 | Razor Disposable - with cover to protect the blade |
| 184 | 6 | pcs | 2,500.00 | 15,000.00 | Tackle Box, at least 24in x 12in |
| 185 | 5000 | pcs | 15.00 | 75,000.00 | Test Tube, glass 16 x 100 mm, 10ml |
| 186 | 23000 | pcs | 15.00 | 345,000.00 | Test tubes, glass, rimless, 2 x 75 mm, 5 ml |
| 187 | 150 | pcs | 25.00 | 3,750.00 | Test tube, glass, with screw cap, 16 x 100 mm, 10 ml |
| 188 | 800 | roll | 195.00 | 156,000.00 | Tissue Hand Roll, 1-regular ply, 12 inches tall, at least 100 sheets |
| 189 | 500 | pcs | 15.00 | 7,500.00 | Tissue paper coreless 2 ply at leas 100 sheets |
| 190 | 500 | pcs | 80.00 | 40,000.00 | Ultrasound Gel (Transmission Gel) water soluble, non-greasy, non-staining, non-irritating, non-corrosive, odorless, non-abrasive, dermatological tested,250ml |
| 191 | 10 | roll | 2,400.00 | 24,000.00 | inches |
| | | | | | LOT 11 |
| 192 | 100 | pcs | 450.00 | 45,000.00 | Cautery Pad Adult |

| 193 | 100 | pcs | 450.00 | 45,000.00 | Cautery Pad Pedia |
|-----|-------|-----|----------|------------|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 194 | 100 | pcs | 450.00 | 45,000.00 | Cautery Pad Neonate |
| 195 | 400 | pcs | 4,000.00 | _,, | Chest Drainage System, Compacted 3way chamber (suction control chamber,water seal chamber,collection chamber), color coded chambers for easy visualization of fluids, with accessories, funnel for the introduction of saline fluids in the water seal and collection chamber to avoid spillage, integrated hook for bed railing, reattachable stand for stability, Introduced water turns into blue in color for easy identification of collected fluids from patient and introduced saline water, 2,500ml/cc for collection chamber, with metal spring on the base of patient tube to avoid kinking and bending of tube.Calibrated for exact measurement, 2500ml with sample collection, pressure release buttor and easy set-up. |
| 196 | 10000 | pcs | 17.50 | 175,000.00 | ECG Electrodes (Adult), Hypoallergenic medical-grade adhesive. Quick recovery gel. Strick quality control during production/ Silver/Silver Chloride sensor. pre-gelled (single-use). 1mm foam backing provides strength. 25 pieces/pack |
| 197 | 4000 | pcs | 12.00 | 48,000.00 | Hypoallergenic medical-grade adhesive. Quick recovery gel. Strick quality control during production/ Silver/Silver Chloride sensor. pre-gelled (single-use). 1mm foam backing provides strength. 50 pieces/pack |
| 198 | 300 | box | 300.00 | 90,000.00 | Nihon Kohden ECG Machine) |
| 199 | 1250 | pcs | 150.00 | 187,500.00 | Intravenous Cannula Gauge 26 (Safety), Sterile, Gauge 26 x 0.5 |

| | | | | | inches, winged type, with smooth catheter material that must be felt during insertion, hub design for pre-attachment of syringe, unique safety tip, sharp bevel, no change in hand technique during insertion, CPR & CGMP require, pc |
|-----|----|-----|-----------|-----------|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 200 | 10 | pcs | 2,800.00 | 28,000.00 | Laryngoscope Bulb - LED Light Source |
| 201 | 1 | box | 47,600.00 | 47,600.00 | Polymer Ligating Clip Large (14 cartridges/box), with bosses for clip retention in applier jaws. with integrated teeth with locking mechanism that provides tactile feedback and secure closure with flexible hing Non absorbable polymer. Radiolucent. Vessel / Tissue bundle size range 5mm to 13mm. 14 cartridge/box |
| 202 | 1 | box | 45,000.00 | 45,000.00 | Polymer Ligating Clip Medium (14 cartridges/box), with bosses for clip retention in applier jaws. with integrated teeth with locking mechanism that provides tactile feedback and secure closure with flexible hing Non absorbable polymer. Radiolucent. Vessel / Tissue bundle size range 5mm to 10mm. 14 cartridge/box |
| 203 | 5 | pcs | 10,000.00 | 50,000.00 | RESUSCITATOR NEONATE WITH MASK, Completely autoclavable for up to 134*C, heavy duty made from pure and 100%, durable, silicon with embossed lettering "autoclavable" on the silicon bag. All parts can be easily removed to ease cleaning. Complete w/ pressure release valve to minimize the risk of over inflating the lungs. With 2 face masks - Size 0 and 1.3 pcs Guedel Airways - Size 00/1/3. Reservoir bag - 600 ml Oxygen Tubing |
| 204 | 5 | pcs | 10,000.00 | 50,000.00 | RESUSCITATOR PEDIA WITH MASK, Completely autoclavable fo up to 134*C, heavy duty made |

| | | | | | LOT 12 |
|-----|-----|-----|----------|------------|---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 208 | 500 | pcs | 150.00 | 75,000.00 | double lid, with hermetic lock sea 0.4L easy and handy to assemble through pressure, with built-in handle for transport, autoclavable at 134c for 18 minutes, easy lidopening, with temporary closure case of not use, puncture proof resistance |
| 207 | 200 | pcs | 660.00 | 132,000.00 | Sharps disposal container, yellow, double lid, with hermetic lock seal, 5L easy and handy to assemble through pressure, with built-in handle for transport, autoclavable at 134c for 18 minutes, easy lidopening, with temporary closure is case of not use, puncture proof resistance |
| 206 | 20 | pcs | 1,500.00 | · | RESUSCITATOR SILICON BAG, PEDIA DISPOSABLE, 500ml capacity, single mask size 1, single use mask size 1, complete with pressure release valve to minimize the risk of over inflating the lungs. Complete with oxygen reservoir |
| 205 | 20 | pcs | 1,500.00 | , | RESUSCITATOR SILICON BAG, NEONATE DISPOSABLE, 220-250m capacity, single use mask size 1, complete with pressure release valve to minimize the risk of over inflating the lungs. Complete with oxygen reservoir |
| | | | | | from pure and 100%, durable, silicon with embossed lettering "autoclavable" on the silicon bag. All parts can be easily removed to ease cleaning. Complete w/ pressure release valve to minimize the risk of over inflating the lungs. With 2 face masks - Size 2 and 5.3 pcs Guedel Airways - Size 00/2/4. Reservoir bag - 2600 ml Oxygen Tubing |

| 209 | 12 | canniste r | 1,200.00 | • | Disinfecting Towellettes non-woven disposable towellettes 7x9, 80 ply 10 towellette |
|-----|-------|---------------|----------|--------------|----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 210 | 50 | pcs | 200.00 | | Reinforced Skin Closure 1/2in x 4in (12mm x 100mm), Latex free |
| 211 | 1200 | roll | 110.00 | · | Tape Paper Surgical 1/2" (BLENDED WHITE TAPE), gentle adhesion, conformable & highly breathable, reliably secures dressing and devices to skin, hypoallergenic |
| 212 | 1000 | pcs | 96.80 | 96,800.00 | TRANSPARENT IV DRESSING W/ SECURING TAPE, 6cmx7cm (Pedia) |
| 213 | 1000 | pcs | 69.70 | 69,700.00 | TRANSPARENT IV DRESSING W/ SECURING TAPE, 8.5cmx7cm (Adult) |
| 214 | 14000 | roll | 115.00 | 1,610,000.00 | Tape Paper Surgical 1" (transparent white tape), gentle adhesion, conformable & highly breathable, reliably secures dressing and devices to skin, hypoallergenic, roll |
| | | | | | LOT 13 |
| 215 | 1500 | pcs | 60.00 | 90,000.00 | ASEPTO IRRIGATING BULB, 50-60ml capacity, disposable, catheter tip with plastic protector, non toxic, non pyrogenic |
| 216 | 82000 | pcs | 4.00 | 328,000.00 | Bouffant Cap, Disposable hair cap, spunbond, polypropylene material, elastic design, 100's/box |
| 217 | 200 | pcs | 800.00 | 160,000.00 | Cadaver Bag (Adult), At least L:76" x W:35", With C shape zipper, Seamless sides to reduce the in and out of moisture, Assembled with heavy duty nylon thread, With continuous double webbing strap as handle and reinforcement, Heavy duty no. 8 zipper closure, Material used must be moisture and vapor repellant, Must be with pocket ID |

| 218 | 120 | pcs | 500.00 | • • | Cadaver Bag (Neonate), At least ::35" x W:15", With C shape zipper, Seamless sides to reduce the in and out of moisture, Assembled with heavy duty nylon thread, with continuous double webbing strap as handle and reinforcement, heavy duty no. 8 zipper closure, material used must be moisture and vapor repellant, must be with pocket ID |
|-----|-------|-----|--------|--------------|------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 219 | 200 | pcs | 261.00 | 52,200.00 | Condom Catheter |
| 220 | 100 | box | 80.00 | 8,000.00 | Condom, Latex 3pcs per box |
| 221 | 550 | pcs | 300.00 | 165,000.00 | STERILE GLOVES ELBOW LENGTH, latex free, powder free |
| 222 | 2500 | pcs | 50.00 | 125,000.00 | Stopcock 3-way, sterile, fully transparent, 6% polycarbonate, luer lock, with arrow indication mark, rotation allowed 360 degrees, CPR & CGMP required. |
| | | | | | LOT 14 |
| 223 | 100 | pcs | 450.00 | 45,000.00 | Disposable Flexible Catheter Mount (Adult) 22mm ID |
| 224 | 50 | pcs | 450.00 | 22,500.00 | Disposable Flexible Catheter Mount (Pedia) 15mm ID |
| 225 | 500 | pcs | 180.00 | 90,000.00 | Disposable Oxygen Humidifier 340ml |
| 226 | 14550 | pcs | 100.00 | 1,455,000.00 | Face Mask Antiviral, vailable as an FFP2 or FFP3 respirator, with submicron particle filtration, traps and kill gram- and gram+ bacteria, dual action breathability, pc. hypoallergenic and latex-free |
| 227 | 58800 | pcs | 36.00 | 2,116,800.00 | percent filtration effiency, with 2 strap design, cushioning nose foam, with bacterial filter |
| 228 | 45500 | pcs | 100.00 | 4,550,000.00 | Face Mask N95, at least 95 percent filtration efficiency, with 2 strap |

| | | | | | design, cushioning nose foam (1860 Medical Grade) |
|-----|--------|------|----------|------------|----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 229 | 284500 | pcs | 5.00 | | Face Mask Surgical (EARLOOP), disposable, with adjustable soft metal nose clip, 3 ply |
| | | | | | LOT 15 |
| 230 | 200 | pcs | 200.00 | 40,000.00 | Clipper Blades, compatible with our existing clipper (CAREFUSION) |
| 231 | 200 | pcs | 1,500.00 | 300,000.00 | CLOSED SUCTION CATHETER SYSTEM (ADULT) FR. 14, sterile, at least 4.6mm in diameter, at least 54cm-56cm in length,double swivel elbow |
| 232 | 150 | pack | 3,250.00 | 487,500.00 | Complete Adult laparotomy Pack, :1pc laparotomy drape, 3pcs surgical gown (large), 1pc Mayo stand Cover at least 24" x 53", 4pcs Drape sheet with Adhesive, 1 Suture Bag, 1pc Outer wrap/Table Cover Reinforced Poly at least 44" x 90", 6pcs Hand Towel, 3pcs sterile gloves 7.0, 6pcs hand towels |
| 233 | 105 | pack | 3,315.00 | 348,075.00 | Complete Caesarian Pack C, Birth pack, surgical gown (large) with towels #3 Mayo Cover- 1 Mayo Stand Cover at least 24"x53", 1 C - Section Drape with pouch and Fenestrated Drape, 1 Baby Blanket, 1 Plancenta Basin, 1 Umbilical Cord Clap, 1 Suture Bag, 1 Outer Wrap/Table Cover Reinforced Poly at least 44" x 90", 3 Standard Surgical Gowns with Towels Large. |
| 234 | 100 | pair | 90.00 | 9,000.00 | Gloves Surgical Ortho 6.0, latex, powder free, smooth for tactile sensitivity with water based hydrogel coating for eas donning, with interlocking beaded cuff design, helps to prevent roll down |

| 235 | 150 | pair | 90.00 | , | Gloves Surgical Ortho 6.5, latex, powder free, smooth for tactile sensitivity with water based hydrogel coating for eas donning, with interlocking beaded cuff design, helps to prevent roll down |
|-----|-----|------|----------|-----------|---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 236 | 150 | pair | 90.00 | • | Gloves Surgical Ortho 7.0, latex, powder free, smooth for tactile sensitivity with water based hydrogel coating for eas donning, with interlocking beaded cuff design, helps to prevent roll down |
| 237 | 200 | pair | 90.00 | 18,000.00 | Gloves Surgical Ortho 7.5, latex, powder free, smooth for tactile sensitivity with water based hydrogel coating for eas donning, with interlocking beaded cuff design, helps to prevent roll down |
| 238 | 100 | pair | 90.00 | 9,000.00 | Gloves Surgical Ortho 8.0, latex, powder free, smooth for tactile sensitivity with water based hydrogel coating for eas donning, with interlocking beaded cuff design, helps to prevent roll down |
| 239 | 125 | pack | 260.00 | 32,500.00 | Gown disposable surgical (XL), sterile, SMS non woven, Velcro type neck closure, tie type back closure, knife |
| 240 | 70 | pcs | 1,000.00 | 70,000.00 | Shaped bulb, silicone flat drain, 7mm, sterile and non pyogenic |
| 241 | 100 | pair | 250.00 | 25,000.00 | Scrub Suit (Large), disposable, non woven line |
| 242 | 100 | pair | 250.00 | 25,000.00 | Scrub Suit (Medium), disposable, non woven linen |
| 243 | 20 | pcs | 4,200.00 | 84,000.00 | Suction Bottle Medi/Vac, Compatible with the existing pipe- in system (Compatible with the winning gauge for suction pipe-in) |
| 244 | 300 | pcs | 300.00 | 90,000.00 | Suction Liner, with tubing Compatible with the winning suction bottle wall mounted |

| 245 | 500 | pcs | 840.00 | | Ventilator Tubing Circuit, Adult with built-in water trap |
|-----|-------|------|--------|--------------|----------------------------------------------------------------------------------------------------------|
| | | | | | LOT 16 |
| 246 | 7670 | pcs | 300.00 | _,00_,000 | GLOVES NITRILE (LARGE), unsterile, latex free, powder free, 100's per box |
| 247 | 11598 | pcs | 300.00 | _,, | GLOVES NITRILE (MEDIUM), unsterile, latex free, powder free, 100's per box |
| 248 | 2350 | pcs | 300.00 | 705,000.00 | GLOVES NITRILE (SMALL), unsterile, latex-free, powder free, 100's per box |
| 249 | 4000 | pair | 53.00 | 212,000.00 | GLOVES SURGICAL LATEX FREE, Size 6, Sterile, Powder free, Anatomic shape, Zero Accelerator |
| 250 | 34150 | pair | 53.00 | 1,809,950.00 | GLOVES SURGICAL LATEX FREE, Size 6.5, Sterile, Powder free , Anatomic shape, Zero Accelerator |
| 251 | 34050 | pair | 53.00 | 1,804,650.00 | GLOVES SURGICAL LATEX FREE, Size 7, Sterile, Powder free , Anatomic shape, Zero Accelerator |
| 252 | 14000 | pair | 53.00 | 742,000.00 | GLOVES SURGICAL LATEX FREE, Size 7.5,, Sterile, Powder free , Anatomic shape, Zero Accelerator |
| 253 | 4500 | pair | 53.00 | 238,500.00 | GLOVES SURGICAL LATEX FREE, Size 8,, Sterile, Powder free , Anatomic shape, Zero Accelerator |
| 254 | 4000 | pair | 53.00 | 212,000.00 | 6.0, sterile, powder free, anatomic shape, thick, non-stick skin grip surface. |
| 255 | 10100 | pair | 53.00 | 535,300.00 | 6.5, sterile, powder free, anatomi shape, thick, non-stick skin grip surface |
| 256 | 10000 | pair | 53.00 | 530,000.00 | GLOVES SURGICAL (LATEX) SIZE 7.0, sterile, powder free, anatom shape, thick, non-stick skin grip surface |

| 257 | 4000 | pair | 53.00 | 212,000.00 | GLOVES SURGICAL (LATEX) SIZE 7.5, sterile, powder free, anatomic shape, thick, non-stick skin grip surface |
|-----|-------|------|----------|--------------|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 258 | 4000 | pair | 53.00 | 212,000.00 | GLOVES SURGICAL (LATEX) SIZE 8.0, sterile, powder free, anatomic shape, thick, non-stick skin grip surface |
| 259 | 50 | box | 750.00 | 37,500.00 | Gloves Unsterile Latex (large) powder free, 100pcs/box |
| 260 | 50 | box | 750.00 | 37,500.00 | Gloves Unsterile Latex (medium) powder free, 100pcs/box |
| 261 | 50 | box | 750.00 | 37,500.00 | Gloves Unsterile Latex (small) powder free, 100pcs/box |
| 262 | 20 | box | 750.00 | 15,000.00 | Gloves Unsterile Latex-Free (Medium), powder free, 100's per box |
| 263 | 30 | box | 750.00 | 22,500.00 | Gloves Unsterile Latex-Free (Large), powder free, 100's per box |
| 264 | 11500 | pcs | 170.00 | 1,955,000.00 | PPE-Gown- Splash Gown Large Size, 3 layers SMS polypropylene non-woven fabric, latex free velcro type wrap around, tie type knit cuffs with FDA approved with CDRRHR-CMDN |
| 265 | 30 | box | 750.00 | 22,500.00 | Gloves Unsterile Latex-Free (Small), powder free, 100's per box |
| 266 | 83000 | pair | 15.00 | 1,245,000.00 | Shoe cover, non slip, waterproof, made from medical grade pp, spunbond |
| | | | | | LOT 17 |
| 267 | 113 | bot | 3,800.00 | 429,400.00 | High Level Disinfectant, for instruments that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation. |

| 268 | 50 | gal | 12,500.00 | | High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic surfactant (Lemon) 5Liter Concentrate/Gallon, 5ml to 1L water dilution for non critical areas and 50ml/1L dilution for critical areas, Low toxicity and does not contain chlorine and aldehyde compounds |
|-----|-----|-----|-----------|------------|-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 269 | 20 | gal | 6,500.00 | 130,000.00 | High Level Air Disinfectant HP 75- Hydrogen peroxide Based, glutaraldehyde-free, sporicidal, no noxious odors, single use(compatible with Amity Airdecon decontaminating Machine) 2.5liters |
| 270 | 40 | gal | 9,500.00 | 380,000.00 | Multi-Enzymatic Cleaner, suitable for manual and automated cleaning; biological cleaner suitable for removal of proteins and organic soilage from sensitive materials, low foaming orevents corrosion; rapid cleaning time, consist of 5 enzymes (Protease, Amylase, Cellulase and Mannanase and Synergistic surfactant) for better cleaning result |
| | | | | | LOT 18 |
| 271 | 153 | pcs | 605.00 | 92,565.00 | BP cuff (Adult), velcro , with inflation latex, bag, bulb and valves |
| 272 | 50 | pcs | 485.00 | 24,250.00 | BP cuff (Neonate), velcro, with inflation latex 1 inch, bag, bulb and valves,pc |
| 273 | 51 | pcs | 510.00 | 26,010.00 | BP CUFF, (Pedia) - velcro, with inflatio Latex, bag, bulb and valves,pc |
| 274 | 130 | pcs | 2,000.00 | 260,000.00 | Oxygen Gauge (Cylinder use), Compatible with all oxygen cylinder, durable, oxygen flow range 1-10L/min. |

| | | | | | LOT 22 |
|-----|------|-----|----------|------------|----------------------------------------------------------------------------------------------------------------------------------------------|
| 288 | 5 | pcs | 660.00 | 3,300.00 | INTRAOSSEOUS STABILIZER |
| 287 | 10 | pcs | 5,544.00 | 55,440.00 | INTRAOSSEOUS NEEDLE 45MM |
| 286 | 10 | pcs | 5,544.00 | 55,440.00 | INTRAOSSEOUS NEEDLE 25MM |
| 285 | 10 | pcs | 5,544.00 | 55,440.00 | INTRAOSSEOUS NEEDLE 15mm |
| | | | | | LOT 21 |
| 284 | 50 | pcs | 3,630.00 | 181,500.00 | Finger Probe (PEDIA/ADULT), disposable, compatible with infunity machine |
| 283 | 50 | pcs | 3,630.00 | 181,500.00 | Finger Probe (NEONATE), disposable, compatible with infunity machine |
| | | | | | LOT 20 |
| 282 | 15 | pcs | 1,000.00 | 15,000.00 | NIPPV RAM Cannula (Newborn) extra small |
| 281 | 15 | pcs | 1,000.00 | 15,000.00 | NIPPV RAM Cannula (Infant) small |
| 280 | 70 | pcs | 480.00 | 33,600.00 | Catheter Umbilical Fr. 50, Single Lumen, Sterile |
| 279 | 150 | pcs | 480.00 | 72,000.00 | Catheter Umbilical Fr. 4.0, Single Lumen, Sterile |
| 278 | 150 | pcs | 480.00 | · | Catheter Umbilical Fr. 3.5, Single Lumen, Sterile |
| | | | | | LOT 19 |
| 277 | 1530 | pcs | 250.00 | | Thermometer (Digital), for body temperature, pc (axillary) |
| 276 | 20 | pcs | 6,000.00 | , | Panel Screen 3 Folds, made of tubular stainless mounted 4 pcs. rubber and 2 pcs wheel caster; with size of 122" x 65", provided with curtain |
| 275 | 15 | pcs | 5,500.00 | , | Panel Screen 2 Folds, made of tubular stainless mounted 4 pcs. rubber and 1 pc wheel caster; with size of 85" x 65", provided with curtain |

| 289 | 55 | pcs | 110.00 | , | ORAL AIRWAY SIZE 60mm , rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer |
|-----|------|------|----------|-----------|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 290 | 55 | pcs | 110.00 | , | ORAL AIRWAY SIZE 70mm , rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer |
| 291 | 55 | pcs | 110.00 | 6,050.00 | ORAL AIRWAY SIZE 80mm , rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer |
| 292 | 55 | pcs | 110.00 | 6,050.00 | ORAL AIRWAY SIZE 90mm , rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer |
| 293 | 55 | pcs | 110.00 | 6,050.00 | ORAL AIRWAY SIZE 100mm , rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer |
| 294 | 55 | pcs | 110.00 | 6,050.00 | ORAL AIRWAY SIZE 110mm , rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer |
| | | | | | LOT 23 |
| 295 | 5 | tank | 4,800.00 | 24,000.00 | Carbon Dioxide, Standard Size (Content Only) 125 lbs |
| 296 | 2 | tank | 800.00 | 1,600.00 | Compressed air 125lbs |
| | | | | | LOT 24 |
| 297 | 2000 | pcs | 25.00 | 50,000.00 | Oxygen Cannula (Adult), soft and flexible nasal prong enhance pt. comfort, latex free non-toxic PVC and non-irritant, with universal adapter to oxygen gas source. |
| 298 | 100 | pcs | 25.00 | 2,500.00 | Oxygen Cannula (Neonate), soft and flexible nasal prong enhance patient comfort, latex free, nontoxic PVC and non-irritant, with universal adapter to oxygen gas source |

| 299 | 900 | pcs | 25.00 | , | Oxygen Cannula (Pedia), soft and flexible nasal prong enhance patient comfort, latex free, nontoxic PVC and non-irritant, with universal adapter to oxygen gas source |
|-----|------|-------|-----------|------------|-----------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 300 | 1000 | piece | 84.00 | - 1, | Oxygen Mask (Adult), Straps fit comfortably with over the ears straps or elastic head strap, transparent, latex-free. |
| | | | | | LOT 25 |
| 301 | 350 | pcs | 108.00 | 37,800.00 | Oxygen Mask (Neonatal) Non- rebreathing |
| 302 | 1850 | pcs | 79.00 | 146,150.00 | Oxygen Mask (Adult) Non- rebreathing |
| 303 | 1200 | pcs | 79.00 | 94,800.00 | Oxygen Mask (Pedia) Non- rebreathing |
| | | | | | LOT 26 |
| 304 | 20 | pcs | 750.00 | 15,000.00 | Oxygen Flow Nasal Cannula with Comfort Clean Small |
| 305 | 20 | pcs | 750.00 | 15,000.00 | Oxygen Flow Nasal Cannula with Comfort Clean Extra Small |
| | | | | | LOT 27 |
| 306 | 130 | pcs | 280.00 | 36,400.00 | BONEWAX 2.5g single foil |
| 307 | 50 | pcs | 410.00 | 20,500.00 | Caudal Needle Gauge 22 x 1 3/8 in. |
| 308 | 6 | box | 10,000.00 | 60,000.00 | Dermatome Blade, 10 pcs/box (for Skin Grafting) |
| 309 | 1475 | pcs | 80.00 | 118,000.00 | Needle for Spinal Anesthesia, 0.53 x 88mm/ 27g x 3½ inches quincke bevel with transparent ergonomic needle hub design |
| 310 | 8 | box | 5,034.00 | 40,272.00 | wires ergonomic handle wire staples with free staple wire remover per box of 6, 6pcs per box |
| 311 | 272 | pcs | 500.00 | 136,000.00 | SUTURE GLYCONATE USP SIZE 2- 0, midterm, absorbable, |

| | ı | ı | 1 | | monofilament glyconate suture |
|-----|-----|-----|--------|------------|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| | | | | ļ | with half circle round needle 26 mm, with 70 cm thread (for pedia) |
| 312 | 200 | pcs | 480.00 | | SUTURE GLYCONATE USP SIZE 3- 0, midterm, absorbable, monofilament glyconate suture with 3/8 circle reverse cutting needle 19 mm, with 70cm thread (OB) |
| 313 | 108 | pcs | 480.00 | | SUTURE GLYCONATE USP SIZE 4- 0, midterm, absorbable, monofilament glyconate suture with 3/8 circle cutting needle 19 mm, at least 70cm thread |
| 314 | 162 | pcs | 250.00 | 40,500.00 | SUTURE POLYAMIDE USP SIZE 3-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 19mm needle, 75cm thread |
| 315 | 72 | pcs | 250.00 | 18,000.00 | SUTURE POLYAMIDE USP SIZE 4-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 16mm needle, 75cm thread |
| 316 | 72 | pcs | 250.00 | 18,000.00 | SUTURE POLYAMIDE USP SIZE 5-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 16mm needle, 75cm thread |
| 317 | 36 | pcs | 275.00 | 9,900.00 | SUTURE POLYAMIDE USP SIZE 6-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 12mm needle, 45cm thread |
| 318 | 36 | pcs | 250.00 | 9,000.00 | Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 24mm needle, 75cm thread |
| 319 | 252 | pcs | 390.00 | 98,280.00 | SIZE 0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate) half circle round needle size 37 mm needle with 90cm thread |
| 320 | 391 | pcs | 390.00 | 152,490.00 | SUTURE POLYGLACTIN 910 USP SIZE 2/0, midterm, absorbable, |

| | | | | | braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and OB use) |
|-----|-----|-----|--------|------------|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 321 | 283 | pcs | 390.00 | 110,370.00 | SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread |
| 322 | 330 | pcs | 390.00 | 128,700.00 | SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread |
| 323 | 252 | pcs | 390.00 | 98,280.00 | SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread |
| 324 | 72 | pcs | 390.00 | 28,080.00 | SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread |
| 325 | 72 | pcs | 390.00 | 28,080.00 | SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 17mm needle with 70cm thread |
| 326 | 50 | pcs | 780.00 | 39,000.00 | SUTURE POLYPROPELENE USP SIZE 0, Monofilament, Non- Absorbable made of Polypropelene and Polyethylene 1/2 - Circle |

| | | | | | round - bodied needle, 37mm, with 75cm thread |
|-----|-----|-----|----------|-----------|-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 327 | 36 | pcs | 820.00 | 20,020.00 | SUTURE POLYPROPELENE USP SIZE 2-0, Monofilament, Non- Absorbable made of Polypropelene and Polyethylene 3/8 Circle cutting needle, precision point 24mm with 75cm thread |
| 328 | 86 | pcs | 820.00 | | SUTURE POLYPROPELENE USP SIZE 2-0, Monofilament, Non- Absorbable made of Polypropelene and Polyethylene 1/2 - half Circle round 26mm with 90cm thread |
| 329 | 86 | pcs | 825.00 | 70,950.00 | SUTURE POLYPROPELENE USP SIZE 3-0, Monofilament, Non-Absorbable made of Polypropelene and Polyethylene 3/8 circle cutting precision point 19mm needle, 75cm thread |
| 330 | 50 | pcs | 1,035.00 | 51,750.00 | SUTURE POLYPROPELENE USP SIZE 3-0, Monofilament, Non-Absorbable made of Polypropelene and Polyethylene, half circle round black needle 26mm with 90cm thread |
| 331 | 108 | pcs | 825.00 | 89,100.00 | SUTURE POLYPROPELENE USP SIZE 4-0, Monofilament, Non-Absorbable made of Polypropelene and Polyethylene 3/8 circle cutting needle precision point 19 mm needle 45cm thread |
| 332 | 86 | pcs | 850.00 | 73,100.00 | SUTURE POLYPROPELENE USP SIZE 5-0, Monofilament, Non-Absorbable made of Polypropelene and Polyethylene, 3/8 circle cuttin needle precision point 19mm needle, 75cm thread |
| 333 | 25 | pcs | 885.00 | 22,125.00 | SUTURE POLYPROPELENE USP SIZE 6-0, Monofilament, Non-Absorbable made of Polypropelend and Polyethylene, 1/2 Circle round body, short cutting point 13mm needle, 75cm thread |

| 334 | 25 | pcs | 1,090.00 | | SUTURE POLYPROPELENE USP SIZE 6-0, Monofilament, Non- Absorbable made of Polypropelene and Polyethylene suture, 3/8 circle round body, short cutting point 10mm needle, 75cm thread |
|-----|-----|-----|----------|-----------|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 335 | 372 | pcs | 185.00 | 22, | SUTURE SILK USP SIZE 0 STRANDS, Non-Absorbable, Natural braided silk, 60cm |
| 336 | 344 | pcs | 130.00 | ,, ===== | SUTURE SILK USP SIZE 2-0 CUTTING NEEDLE, Non- Absorbable, Natural braided silk, 3/8 circle reverse cutting 24mm needle, 75cm thread |
| 337 | 252 | pcs | 130.00 | 32,760.00 | SUTURE SILK USP SIZE 2-0 ROUND NEEDLE, Non-Absorbable, Natural braided silk, half circle round body 26mm needle, 75cm thread |
| 338 | 372 | pcs | 140.00 | 52,080.00 | SUTURE SILK USP SIZE 2-0 STRANDS, Non-Absorbable, Natural braided silk, 15pcs x 60cm |
| 339 | 344 | pcs | 130.00 | 44,720.00 | SUTURE SILK USP SIZE 3-0 CUTTING NEEDLE, Non- Absorbable, Natural braided silk, 3/8 circle reverse cutting 24mm needle, 75cm thread |
| 340 | 108 | pcs | 130.00 | 14,040.00 | SUTURE SILK USP SIZE 3-0 ROUND NEEDLE, Non-Absorbable, Natural braided silk, half circle round body 22mm needle, 75cm thread |
| 341 | 372 | pcs | 130.00 | 48,360.00 | SUTURE SILK USP SIZE 3-0 STRANDS, Non-Absorbable, Natural braided silk, 15pcs x 60cm |
| 342 | 288 | pcs | 130.00 | 37,440.00 | SUTURE SILK USP SIZE 4-0 CUTTING NEEDLE, Non- Absorbable, Natural braided silk, 3/8 circle reverse cutting 19mm needle, 75cm thread |
| 343 | 324 | pcs | 130.00 | 42,120.00 | SUTURE SILK USP SIZE 4-0 ROUND NEEDLE, Non-Absorbable, Natural braided silk, half circle |

| | | | | | round body 22mm needle, 75cm thread |
|-----|-----|-----|-----------|--------------|-------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 344 | 288 | pcs | 130.00 | - · , | SUTURE SILK USP SIZE 4-0 STRANDS, Non-Absorbable, Natural braided silk, 15pcs x 60cm |
| 345 | 144 | pcs | 130.00 | | SUTURE SILK USP SIZE 5-0 CUTTING NEEDLE, Non- Absorbable, Natural braided silk, 3/8 circle reverse cutting 16mm needle, 75cm thread |
| 346 | 5 | pcs | 12,645.00 | 63,225.00 | Warp Knitted Monofilament Polypropelene Universal Lightweight Mesh (48g/M2), with pore size 1.5mm with guidelines for visibility in Operating field, size 30x30cm |
| 347 | 5 | pcs | 4,900.00 | 24,500.00 | Warp Knitted Monofilament Polypropelene Universal Lightweight Mesh (60g/M2), with pore size 1.5mm with blue guidelines for visibility in Operatin Field, 15x15cm |
| 348 | 8 | pcs | 4,320.00 | 34,560.00 | Warp Knitted Monofilament Polypropelene Universal Lightweight Mesh (60g/M2), with pore size 1.5mm with blue guidelines for visibility in Operatin Field, 7.5x15cm |
| | | | | | LOT 28 |
| 349 | 200 | pcs | 250.00 | 50,000.00 | GUT ABSORBABLE SIZE 2 - 0, 1/2 circle, round bodied 25-40mm with at least 75cm thread |
| 350 | 400 | pcs | 300.00 | 120,000.00 | ABSORBABLE SIZE 2-0 - 1/2 circle curved cutting 37-40m needle with at least 75cm thread |
| 351 | 600 | pcs | 300.00 | 180,000.00 | Suture Natural, Chromic, GUT ABSORBABLE SIZE 2-0 1/2 circle round bodied at least 37mm with 75cm thread |

| 352 | 200 | pcs | 300.00 | , | Suture Natural, Chromic, GUT ABSORBABLE SIZE 3-0 - 1/2 circle, curved cutting 25-40m needle with at least 75cm thread |
|-----|------|--------|----------|-----------|-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 353 | 122 | pcs | 300.00 | , | Suture Natural, Chromic, GUT ABSORBABLE SIZE 3-0 1/2 circle, round bodied 37mm with 75cm thread |
| 354 | 288 | pcs | 300.00 | 86,400.00 | Suture Natural, Chromic, GUT ABSORBABLE SIZE 4-0 - 1/2 circle, curved cutting 25-40m needle with at least 75cm thread |
| | | | | | LOT 29 |
| 355 | 200 | pcs | 200.00 | 40,000.00 | Colostomy Bag 57mm (Adult) Drainage Pouch |
| 356 | 100 | set | 400.00 | 40,000.00 | Colostomy Set 57mm (Adult) Drainage Pouch |
| 357 | 350 | roll | 110.00 | 38,500.00 | Plaster of Paris 4"x 5 yards, unsterile, good water solubility, super fone made of gypsium powder, extra fast setting 2-4 minutes. |
| 358 | 300 | roll | 135.00 | 40,500.00 | Plaster of Paris 6"x 5 yards, unsterile, good water solubility, super fine made of gypsium powder, extra fast setting 2-4 minutes. |
| 359 | 54 | gallon | 1,000.00 | 54,000.00 | Ultrasound Transmission Gel (Aquasonic Gel/Acoustically Perfect/Transmission Gel), water soluble, salt-free, non-irritating, non-corrosive, odorless, non- abrasive, dermatological tested, (20tubes/Gal) |
| 360 | 2500 | pcs | 10.00 | 25,000.00 | Umbilical Cord Clamp, non-toxic, sterile, disposable plastic, pc |
| 361 | 3000 | pcs | 30.00 | 90,000.00 | Urine Bag (Adult), non-sterile, medical grade PVC, 2 liter capacity bag |

| 362 | 1000 | pcs | 18.00 | | Urine bag (pedia), non-sterile, adhesive surface holds securely |
|-----|------|-----|-------|-----------|--------------------------------------------------------------------------------------------------------------------------------------------------------|
| 363 | 150 | pcs | 60.00 | 9,000.00 | Wadding Sheet, 4 inches x 5 yards, cotton white, hypoallergenic, can cut and tear. |
| 364 | 150 | pcs | 60.00 | 9,000.00 | Wadding Sheet, 6 inches x 5 yards, cotton white, hypoallergenic, can cut and tear |
| | | | | | LOT 30 |
| 365 | 100 | pcs | 72.00 | 7,200.00 | Endotracheal Tube with Cuff 4.0, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bullnose tip, kink resistant |
| 366 | 100 | pcs | 72.00 | 7,200.00 | Endotracheal Tube with Cuff 4.5, sterile, with split-resistant radiopaque lines, barrel shaped cuffs, with murphy eye and bullnose tip, kink resistant |
| 367 | 100 | pcs | 72.00 | 7,200.00 | Endotracheal Tube with Cuff 5.0, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant |
| 368 | 150 | pcs | 86.50 | 12,975.00 | Endotracheal Tube with Cuff 5.5, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant |
| 369 | 245 | pcs | 86.50 | 21,192.50 | Endotracheal Tube with Cuff 6.0, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bullnose tip, kink resistant |
| 370 | 225 | pcs | 86.50 | 19,462.50 | Endotracheal Tube with Cuff 6.5, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant |
| 371 | 150 | pcs | 96.00 | 14,400.00 | Endotracheal Tube with Cuff 7.0, sterile, with split-resistant radiopaque lines, barrel shape |

| 380 | 86 | pcs | 70.00 | 6,020.00 | |
|-----|-----|-----|-------|-----------|------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 379 | 100 | pcs | 70.00 | 7,000.00 | Endotracheal Tube without Cuff 4.0, sterile, with split-resistant radiopaque lines, with murphy ey and bull-nose tip, kink resistant, p |
| 378 | 145 | pcs | 70.00 | 10,150.00 | 3.5, sterile, with split-resistant radiopaque lines, with murphy eyo and bull-nose tip, kink resistant, p |
| 377 | 100 | pcs | 70.00 | 7,000.00 | Endotracheal Tube without Cuff 3.0, sterile, with split-resistant radiopaque lines, with murphy eyo and bull-nose tip, kink resistant, p |
| 376 | 100 | pcs | 70.00 | 7,000.00 | Endotracheal Tube without Cuff 2.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, p |
| 375 | 100 | pcs | 70.00 | 7,000.00 | Endotracheal Tube without Cuff 2.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, p |
| | | | | | radiopaque lines, barrel shaped cuffs, with murphy eye and bullnose tip, kink resistant |
| 374 | 100 | pcs | 96.00 | 9,600.00 | sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant Endotracheal Tube with cuff 8.5, sterile with split resistant |
| 372 | 125 | pcs | 96.00 | , | Endotracheal Tube with Cuff 7.5, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant Endotracheal Tube with Cuff 8.0, |
| | | | | | cuffs, with murphy eye and bull- nose tip, kink resistant |

| | | | | | radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc |
|-----|-----|-----|--------|-----------|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 381 | 100 | pcs | 87.12 | , | Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc |
| | | | | | LOT 32 |
| 382 | 10 | pcs | 300.00 | | T-tube Drainage Fr. 14, natural rubber latex, sterile, pyrogen free, non-toxic |
| 383 | 10 | pcs | 300.00 | 3,000.00 | T-tube Drainage Fr. 16, natural rubber latex, sterile, pyrogen free, non-toxic |
| 384 | 10 | pcs | 300.00 | 3,000.00 | T-tube Drainage Fr. 18, natural rubber latex, sterile, pyrogen free, non-toxic |
| | | | | | LOT 33 |
| 385 | 70 | pcs | 600.00 | 42,000.00 | Thoracostomy Tube Fr. 28, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection). |
| 386 | 115 | pcs | 600.00 | 69,000.00 | Thoracostomy Tube Fr. 32, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection). |
| 387 | 90 | pcs | 600.00 | 54,000.00 | Thoracostomy tube Fr. 36, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection). |
| | | | | | LOT 34 |
| 1 | 1 | | | | Tracheostomy Tube 4mm |

| 389 | 5 | pcs | 7,000.00 | 35,000.00 | Tracheostomy Tube 5mm |
|-----|-----|-----|----------|-----------|-------------------------------------------------------------------------------|
| 390 | 5 | pcs | 3,600.00 | 18,000.00 | Tracheostomy tube set size 7.5 |
| 391 | 5 | pcs | 3,600.00 | / - | Tracheostomy tube size 8 |
| 392 | 5 | pcs | 3,600.00 | | Tracheostomy Tube size 3 cuffless, ID 3.0mm, OD 4.8mm, length 39mm |
| 393 | 5 | pcs | 3,600.00 | ŕ | Tracheostomy Tube size 3.5 cuffless, ID 3.5mm, OD 5.4mm, length 40mm |
| 394 | 5 | pcs | 3,600.00 | | Tracheostomy Tube size 4 cuffless, ID 4.0mm, OD 6.0mm, lenght 41mm |
| 395 | 5 | pcs | 3,600.00 | 18,000.00 | Tracheostomy Tube size 4.5 cuffless, ID 4.5mm, OD 6.7mm, lenght 42mm |
| 396 | 5 | pcs | 3,600.00 | 18,000.00 | Tracheostomy Tube size 5.0 cuffless, ID 5.0mm, OD 7.3mm, lenght 44mm |
| 397 | 5 | pcs | 3,600.00 | 18,000.00 | Tracheostomy Tube size 5.5 cuffless, ID 5.5mm, OD 7.9mm, lenght 46mm |
| 398 | 5 | pcs | 7,000.00 | 35,000.00 | Tracheostomy Tube size 6 |
| 399 | 5 | pcs | 3,600.00 | 18,000.00 | Tracheostomy tube size 7 |
| 400 | 5 | pcs | 3,600.00 | 18,000.00 | Tracheostomy Tube with fenestrated cuffed size 5 |
| 401 | 5 | pcs | 3,600.00 | 18,000.00 | TRACHEOSTOMY TUBE with fenestrated cuffed size 5.5 |
| 402 | 10 | pcs | 3,600.00 | 36,000.00 | Tracheostomy Tube with fenestrated cuffed size 7 |
| 403 | 10 | pcs | 3,600.00 | 36,000.00 | Tracheostomy Tube with fenestrated cuffed size 7.5 |
| : | | | | | LOT 35 |
| 404 | 550 | pcs | 36.00 | 19,800.00 | Tube Nasogastric Fr. 5, sterile, transparent tube with radiopaque line, 100cm |

| 405 | 1500 | pcs | 36.00 | • | Tube Nasogastric Fr. 8, sterile, transparent tube with radiopaque line |
|-----|------|------|-----------|------------|----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 406 | 290 | pcs | 36.00 | · | Tube Nasogastric Fr. 10, sterile, transparent tube with radiopaque line |
| 407 | 300 | pcs | 36.00 | | Tube Nasogastric Fr. 12, sterile, transparent tube with radiopaque line |
| 408 | 300 | pcs | 36.00 | 10,800.00 | Tube Nasogastric Fr. 14, sterile, transparent tube with radiopaque line |
| 409 | 1300 | pcs | 36.00 | 46,800.00 | Tube Nasogastric Fr. 16, sterile, transparent tube with radiopaque line (SILICONE) |
| 410 | 20 | pcs | 300.00 | 6,000.00 | Tube Nasogastric Fr. 18, sterile, transparent tube with radiopaque line |
| | | | | | LOT 36 AUTOCLAVE MACHINE |
| 411 | 225 | pcs | 375.00 | 84,375.00 | AUTOCLAVE TAPE 3/4" to 1", Printed into a robust crepe paper- base which is coated with high tack adhesive, Lead free, Easily removed with no sticky residues |
| 412 | 5 | box | 43,140.00 | 215,700.00 | BIOLOGICAL INDICATOR FOR STEAM, includes Biological Incubator with printer and at least 20 minutes result 50's/box |
| 413 | 4 | case | 49,963.00 | 199,852.00 | ready to use pack, designed for STEAM sterilization at least 134 C - 3.5 minutes, clean and accurate indicator color change, validated for at least 4kg and 7kg sterilization load; 100's per case |
| 414 | 8 | pcs | 8,248.00 | 65,984.00 | STEAM STERILIZATION POUCH (12" x 328ft), gusseted type, superior barrier with 60gsm or 70gsm medical grade paper, with clean and accurate indicator color change |

| 415 | 8 | pcs | 12,018.00 | | STEAM STERILIZATION POUCH (16" x 328ft), gusseted type, superior barrier with 60gsm or 70gsm medical grade paper, with clean and accurate indicator color change |
|-----|-----|------|-----------|-----------|---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 416 | 8 | pcs | 10,345.20 | | STEAM STERILIZATION POUCH (8" x 328ft), gusseted type, superior barrier with 60gsm or 70gsm medical grade paper, with clean and accurate indicator color change |
| 417 | 8 | pcs | 5,085.00 | 40,680.00 | STEAM STERILIZATION POUCH (6" x 328ft), gusseted type, superior barrier with 60gsm or 70gsm medical grade paper, with clean and accurate indicator color change |
| 418 | 3 | pcs | 5,700.00 | 17,100.00 | STEAM STERILIZATION POUCH, Flat rolls, 8" x 655 feet |
| 419 | 3 | pcs | 8,500.00 | 25,500.00 | STEAM STERILIZATION POUCH, Flat rolls, 12" x 655 feet |
| 420 | 3 | roll | 11,899.00 | 35,697.00 | Sterilization Wrap, made of SMS (Spunbond-Meltblown-Spunbond) polypropelene, non-woven material, single layer, strong and durable, fluid repellant, resistant to moisture, puncture and tearing resistant 90cmx90cm |
| 421 | 15 | box | 2,200.00 | 33,000.00 | 200pcs/box - strips |
| | | | | | LOT 37 FOR TERUMO INFUSION PUMP |
| 422 | 100 | pcs | 310.00 | 31,000.00 | VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required |
| 423 | 100 | pcs | 165.00 | 16,500.00 | VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP |

| | | | | | INCLUSION: With float valve, Y-port, screw type , luer lock fitting |
|-----|---------------|------------------|-----------|------------|--------------------------------------------------------------------------------------------------------------------------|
| | | | | | LOT 38 COMPATIBLE TO STERRAD NX PLASMA STERILIZER |
| 424 | 30 | box - | 4,800.00 | | Auto safety Lancet, single use blade for capillary 1mm depth, 50pcs/box |
| 425 | 70 | gal · | 504.00 | • | Liquid Detergent All Purpose, for dishwashing & general purpose cleaning, gal |
| 426 | 2850 | pack | 95.00 | | Paper Towel, lint free, interfolded, 175 pulls, 200mm x 200mm white, for cleaning laboratory spills, single |
| 427 | 2 | box | 21,450.00 | | STERILIZATION WRAP,, 120cm X 120cm NON-WOVEN, 200pcs/box |
| 428 | 10 | box | 38,766.00 | 387,660.00 | STERRAD NX CASSETTES 5pcs/box |
| 429 | 3 | roll | 10,686.00 | 32,058.00 | Sterrad Pouch & (Tyvek Roll), with Chemical Indicator 100mmx70m (4"x76yards) REF#12410 |
| 430 | 3 | roll | 15,288.00 | 45,864.00 | Sterrad Pouch & (TYVEK Roll), with chemical indicator 150mm x 70mm (6" x 76 yards) |
| 431 | 3 | roll | 32,448.00 | 97,344.00 | Sterrad Pouch & (TYVEK Roll), with chemical indicator 350mm x 70mm (14" x 76 yards) |
| 432 | 3 | roll | 9,016.80 | 27,050.40 | chemical indicator 75mm x 70mm (3" x 76 yards) |
| 433 | 5 | roll | 5,000.00 | 25,000.00 | color when successful plasma sterilization |
| 434 | 5 | box | 21,652.80 | 108,264.00 | Indicator 30pcs/box |
| | | | | | LOT 39 SOAP COMPATIBLE FOR EXISTING WASHER DISINFECTOR (MATACHANA) |

| 435 | 2 | gal | 6,500.00 | · | Alkaline Hospital Instrument Cleaner & Pre-soak concentrate, for use in washer Disinfector, Ultrasonic baths and flexible endoscope processing |
|-----|----|-----|-----------|------------|------------------------------------------------------------------------------------------------------------------------------------------------|
| 436 | 2 | gal | 6,500.00 | , | Acid Free Agent and aids frying process of re-usable surgical instruments |
| | | | | | LOT 40 PATIENT WARMER |
| 437 | 4 | box | 3,600.00 | 14,400.00 | Full Body Quilt - Adult 10pcs / box |
| 438 | 2 | box | 4,800.00 | 9,600.00 | Full Body Quilt – Pedia 10pcs / box |
| | | | | | LOT 41 COMPATIBLE TO PHILIPS V60/TRILOGY EV300 VENTILATOR |
| 439 | 5 | box | 720.00 | 3,600.00 | Air Inlet Foam Filter 10's/box |
| 440 | 21 | pcs | 10,000.00 | 210,000.00 | EV300 O2 Cell |
| 441 | 5 | pcs | 46,200.00 | 231,000.00 | External Flow Sensor with Cable for Adult and Pedia |
| 442 | 5 | pcs | 52,800.00 | 264,000.00 | External Flow Sensor with Cable for Infant |
| 443 | 2 | box | 18,000.00 | 36,000.00 | F/P Disposable Chamber Compatible to MR850, 10's/box |
| 444 | 5 | box | 39,000.00 | 195,000.00 | F/P Heated Single Patient Circuit W/Exl Port V60+, 10's/box |
| 445 | 2 | box | 3,000.00 | 6,000.00 | HFT Nasal Cannula (Medium) 20pcs/box |
| 446 | 1 | box | 3,000.00 | 3,000.00 | HFT Nasal Cannula (Small) 20pcs/box |
| 447 | 25 | box | 18,000.00 | 450,000.00 | NIV Circuit with DEP Single Limb 22mm, Passive, 10's/box |
| 448 | 5 | box | 42,000.00 | 210,000.00 | Oro-nasal mask Large with leak 1 elbow and headgear, 10's/box |
| 449 | 15 | box | 42,000.00 | 630,000.00 | 1 elbow and headgear 10's/box |
| 450 | 5 | box | 42,000.00 | 210,000.00 | Oro-nasal mask Small with 1 elbo and headgear 10's/box |

| 451 | 5 | pcs | 10,000.00 | | V60+ O2 Cell |
|-----|-----|------|-----------|------------|------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 452 | 500 | pcs | 1,500.00 | , | Ventilator Circuit with Water Trap Adult, circuit, disp, 22mm, non- htd, dual limb patient circuit, non- heated with proximal pressure line, 22-mm ID, single-use |
| | | | | | LOT 42 COMPATIBLE TO COVIDIEN-NELCOR PULSE OXIMETER |
| 453 | 3 | pcs | 16,800.00 | 50,400.00 | Adult Reusable Sensor |
| 454 | 1 | box | 16,704.00 | 16,704.00 | Nelcor Neonatal SpO2 Sensor, 24's/box |
| 455 | 1 | box | 16,704.00 | 16,704.00 | Nelcor Pediatric SpO2 Sensor, 24's/box |
| 456 | 3 | pcs | 16,800.00 | 50,400.00 | SpO2 Extension wire, at least 2 meters |
| | | | | | OT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP |
| 457 | 2 | pack | 21,060.00 | 42,120.00 | CLAVE BIFUSE EXTENSION SET 50'S |
| 458 | 2 | pack | 9,360.00 | 18,720.00 | |
| 459 | 2 | pack | 24,960.00 | 49,920.00 | |
| 460 | 2 | pack | 9,360.00 | | CLAVE VIAL ACCESS SPIKE 50'S |
| 461 | 70 | pack | 480.00 | 33,600.00 | Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml |
| 462 | 100 | pack | 900.00 | 90,000.00 | additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock |
| 463 | 500 | pack | 540.00 | 270,000.00 | Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml |

| | | | | | LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN) |
|-----|-----|--------|-----------|------------|----------------------------------------------------------------------------------------------------------------------|
| 464 | 15 | pcs | 39,312.00 | 589,680.00 | OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE |
| 465 | 10 | pcs | 63,648.00 | 636,480.00 | VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES |
| | | | | | LOT 45 - COMPATIBLE TO E- VENT 7I/E-VENT 5I |
| 466 | 4 | pcs | 10,000.00 | 40,000.00 | E-Vent 7i 02 Cell |
| 467 | 2 | pcs | 10,000.00 | 20,000.00 | E-Vent 5i 02 Cell |
| | | | | | LOT 46 NASOPHARYNGEAL AIRWAY |
| 468 | 20 | pcs | 1,600.00 | 32,000.00 | Nasopharyngeal Airway Size 24, Size 6 Fr. 24 |
| 469 | 20 | pcs | 1,600.00 | 32,000.00 | Nasopharyngeal Airway Size 7 Fr. 28 |
| 470 | 20 | pcs | 1,600.00 | 32,000.00 | Nasopharyngeal Airway Size 8 Fr. 32 |
| | | | | | LOT 47 CONSUMABLES FOR REPROCESSING OF RE-USE DIALYZERS |
| 471 | 20 | gallon | 6,600.00 | 132,000.00 | Cold Sterilant for Dialyzer reprocessing 5L per gallon |
| 472 | 200 | gal | 3,931.20 | 786,240.00 | Hemodialysis Machine Decalcifying Solution Citric Acid base 5L/Gal |
| 473 | 5 | bot | 1,800.00 | 9,000.00 | Peracetic Acid Potency Strips 100s/bottle for dialyzer |
| 474 | 5 | bot | 1,800.00 | 9,000.00 | Peracetic Acid, Residual Strips 100s/bottle for dialyzer, bottle |
| | | | | | LOT 48 MINDRAY IMEC 15 (CONSUMABLES) |

| 475 | 5 | pcs | 7,000.00 | 35,000.00 | 3-Lead ECG Wires, Clip, Neonate TPU, AHA |
|-----|-----|-----|-----------|------------|---------------------------------------------------------------------------------------------------------------------------------------|
| 476 | 10 | pcs | 5,000.00 | 50,000.00 | 5-Lead ECG Wires, Sap, Adult TPU, AHA |
| 477 | 7 | pcs | 8,280.00 | 57,960.00 | 512F Reusable sensor adult, finger |
| 478 | 4 | pcs | 8,280.00 | 33,120.00 | 512F Reusable sensor pedia, finger |
| 479 | 7 | pcs | 3,960.00 | 27,720.00 | 7 pin Mindray Spo2 cable, 1.2m |
| 480 | 4 | pcs | 2,400.00 | 9,600.00 | CM 1201 reusable cuff - infant 10- 19cm w/ connector |
| 481 | 10 | pcs | 2,400.00 | 24,000.00 | CM 1204 reusable cuff - large/ adult 33-47cm w/ connector |
| 482 | 5 | pcs | 2,500.00 | 12,500.00 | CMI 1202 Reusable Cuff 18-26cm, with connector |
| 483 | 20 | pcs | 250.00 | 5,000.00 | Disposable Eye Patch (MEDIUM) |
| 484 | 20 | pcs | 250.00 | 5,000.00 | Disposable Eye Patch (SMALL) |
| 485 | 20 | pcs | 250.00 | 5,000.00 | Disposable Eye Patch (LARGE) |
| 486 | 7 | pcs | 5,000.00 | 35,000.00 | ECG trunk cable - 3/5 lead adult/ pedia 12PIN defib-proof AHA/ IEC |
| 487 | 500 | pcs | 100.00 | 50,000.00 | Extension Tubing 3 way-Multi- Lumen Needle, Free Connectors, at least 15 cm, bore 2.5mm, 3 pinch clamps. sterile |
| 488 | 5 | pcs | 16,277.00 | 81,385.00 | Hepa Filter (Air Purifier) Medium (34-58 SQM) |
| 489 | 15 | pcs | 12,720.00 | 190,800.00 | Hepa Filter 2 and 3 (Air Purifier) SMALL (22-38 SQM) |
| 490 | 13 | gal | 5,000.00 | 65,000.00 | KY Jelly, Gallon |
| 491 | 15 | pcs | 3,500.00 | 52,500.00 | Modified Jackson rees 25cm corrugated tubing, with breathing bag, plow troll bag and scavenging system that control O2, 0.5 Liter bag |
| 492 | 15 | pcs | 3,500.00 | 52,500.00 | Modified Jackson rees 25cm coorugated tubing, with breathing bag, plow troll bleed bag and |

| | | | | | scavenging system that control O2, 1 Liter bag |
|-----|----|-----|-----------|------------|-------------------------------------------------------------------------------------------------------------------------------------------------------|
| 493 | 10 | pcs | 3,360.00 | 33,600.00 | NIBP tubing, adult/ pedia/ infant with connector (3m) |
| 494 | 15 | pcs | 16,000.00 | 240,000.00 | Oxygen Hose, Medical Hose Green, 3-4 meters with oxygen hose fittings must be compatible with existing pipe-in hand tight DISS adaptor. |
| | | | | | LOT 49 |
| 495 | 15 | pcs | 900.00 | 13,500.00 | SURGICAL INSTRUMENT: Cup Basin, round diameter 25-26mm H-4 1/42 - 4 3/4 inches (114- 121mm) W-8 1/2 - 8 3/4 inches (216-222mm) |
| 496 | 10 | pcs | 800.00 | 8,000.00 | SURGICAL INSTRUMENT: Kidney Basin, stainless steel at least 6-7 inches 9153-179mm) |
| 497 | 6 | pcs | 6,000.00 | 36,000.00 | SURGICAL INSTRUMENT: Tray for Lap Instrument with cover, L54xW34.5cmx H12cmx W35cm X H13cm, cover L54cm x W34cmx H7cm L55cmx W35cm x H8cm |
| | | | | | LOT 50 |
| 498 | 5 | pcs | 3,000.00 | 15,000.00 | SURGICAL INSTRUMENT: Adson Tissue Forcep, Stainless steel instrument at least 4 3/4" (12cm) 1x2 teeth |
| 499 | 5 | pcs | 4,500.00 | 22,500.00 | SURGICAL INSTRUMENT: Backhaus Towel Clip Forcep, Stainless steel instrument 8-13cm |
| 500 | 5 | pcs | 2,000.00 | 10,000.00 | SURGICAL INSTRUMENT: Bunt Forceps Holder, Stainless steel |
| 501 | 10 | pcs | 9,250.00 | 92,500.00 | SURGICAL INSTRUMENT: Crile Wood Needle Holder, Stainless steel instrument at least 6" (15cm) with medium jaws and fine serration |

| 502 | 4 | pcs | 15,000.00 | 60,000.00 | SURGICAL INSTRUMENT: Deaver Retractor, Medium, Stainless steel, length 31.5-32.5cm, width 50mm |
|-----|----|-------|-----------|------------|-------------------------------------------------------------------------------------------------------------------------|
| 503 | 20 | pcs | 4,250.00 | 85,000.00 | SURGICAL INSTRUMENT: Halstead Mosquito Forcep, Stainless steel at least 4" (12cm) Curve Forcep. |
| 504 | 5 | pcs | 6,000.00 | 30,000.00 | SURGICAL INSTRUMENT: Instrument Jar -, stainless steel, 75mm x 175mm |
| 505 | 5 | pcs | 6,000.00 | 30,000.00 | SURGICAL INSTRUMENT: Instrument Jar, stainless steel, 75mm x 130mm |
| 506 | 10 | pcs | 1,875.00 | 18,750.00 | SURGICAL INSTRUMENT: Knife Handle No. 3, Stainless steel; fitting blades nos. 10-15; extra fine, at least 12cm |
| 507 | 10 | pcs | 4,500.00 | 45,000.00 | SURGICAL INSTRUMENT: Kelly Forcep, straight, stainless steel 6- 7" |
| 508 | 20 | pcs | 6,000.00 | 120,000.00 | SURGICAL INSTRUMENT: Kelly Ovum, Serrated Forceps 245- 255mm |
| 509 | 1 | pcs | 10,625.00 | 10,625.00 | SURGICAL INSTRUMENT: Magill Endotracheal Forcep, adult size at least 20cm, stainless steel. |
| 510 | 1 | piece | 10,625.00 | 10,625.00 | SURGICAL INSTRUMENT: Magill Endotracheal Forcep, child size at least 17cm, stainless steel |
| 511 | 2 | pcs | 12,000.00 | 24,000.00 | SURGICAL INSTRUMENT: Mixter Fine Short, at least 7 1/4" (190mm) |
| 512 | 4 | pcs | 14,000.00 | 56,000.00 | SURGICAL INSTRUMENT: Mixter Fine Long, at least 9" (230mm) |
| 513 | 20 | pcs | 4,000.00 | 80,000.00 | Hemostatic Forceps, Stainless steel instrument at least 6 1/4" (15.9cm) curved |
| 514 | 1 | pcs | 5,000.00 | 5,000.00 | SURGICAL INSTRUMENT: Jeweler Bipolar Forceps, 0.5mm diameter |

| | | | | | tips, at 45-degree angle, 11-12cm length |
|-----|----|-----|-----------|------------|----------------------------------------------------------------------------------------------------------------------|
| 515 | 4 | pcs | 12,000.00 | 48,000.00 | SURGICAL INSTRUMENT: Schnidt Tonsil Hemostatic Forceps, Stainless steel, half curved, closed rings, 19-20cm |
| 516 | 3 | pcs | 12,000.00 | 36,000.00 | SURGICAL INSTRUMENT: Ochsner (Kocher) Curve, Long, Stainless steel, teeth 1x2, 20-21cm |
| 517 | 3 | pcs | 12,000.00 | 36,000.00 | SURGICAL INSTRUMENT: Ochsner (Kocher) Straight, Long, stainless stell, teeth 1x2, 20.5-21.5cm |
| 518 | 20 | pcs | 7,200.00 | 144,000.00 | SURGICAL INSTRUMENT: Ovum Forceps, 5 1/2 - 6 inches (139-18cm or 180mm) |
| | | | | | LOT 51 |
| 519 | 5 | pcs | 3,450.00 | 17,250.00 | SURGICAL INSTRUMENT: Bandage Operating Scissor, stainless steel, 7-7 1/4" (174-184mm) |
| 520 | 5 | pcs | 1,000.00 | 5,000.00 | SURGICAL INSTRUMENT: Iris Scissor, stainless steel at least 3- 3 1/2 inches (70-89mm) Curved |
| 521 | 5 | pcs | 5,000.00 | 25,000.00 | SURGICAL INSTRUMENT: Mayo Scissor, stainless steel, straight, 17-20cm |
| 522 | 20 | pcs | 5,000.00 | 100,000.00 | SURGICAL INSTRUMENT: Mayo Scissor, stainless ateel, at least 7- 7 1/4 inches 9179-184mm) curved, blunt tip |
| 523 | 5 | pcs | 5,000.00 | 25,000.00 | SURGICAL INSTRUMENT: Mayo Scissor, stainless steel, small, straight, 14.5-15.5cm |
| 524 | 15 | pcs | 5,000.00 | 75,000.00 | SURGICAL INSTRUMENT: Metzenbaum Scissor, stainless steel, 176-184mm curved |
| 525 | 2 | pcs | 5,000.00 | 10,000.00 | SURGICAL INSTRUMENT: Metzenbaum Scissor, stainless steel, curved, 10-11.5cm |

| 526 | 5 | pcs | 5,000.00 | 25,000.00 | SURGICAL INSTRUMENT: Metzenbaum Baby Scissor, stainless steel, straight, 10-11.5cm |
|-----|---|-----|-----------|-----------|------------------------------------------------------------------------------------------------------------------|
| 527 | 5 | pcs | 5,000.00 | 25,000.00 | SURGICAL INSTRUMENT: Metzenbaum Scissor, straight, stainless steel 20.5-21.5cm |
| | | | | | LOT 52 |
| 528 | 3 | pcs | 15,000.00 | 45,000.00 | SURGICAL INSTRUMENT: Amniotome Beacham, Stainless steel, 26-27cm |
| 529 | 4 | pcs | 15,000.00 | 60,000.00 | SURGICAL INSTRUMENT: Heaney Hysterectomy Forceps, curved, longitudinal serrations, length at least 21cm |
| 530 | 1 | pcs | 15,000.00 | 15,000.00 | SURGICAL INSTRUMENT: Kristeller Vaginal Retractor, stainless steel, 80mm x 30mm |
| 531 | 1 | pcs | 15,000.00 | 15,000.00 | SURGICAL INSTRUMENT: Pederson Vaginal Speculum, stainless steel, 75mm x 13mm |
| 532 | 1 | pcs | 15,000.00 | 15,000.00 | SURGICAL INSTRUMENT: Pederson Vaginal Speculum, stainless steel, 120mm x 26mm |
| 533 | 2 | pcs | 15,000.00 | 30,000.00 | SURGICAL INSTRUMENT: Uterine Curette, stainless steel, blunt, 8mm, 30-31cm |
| 534 | 2 | pcs | 15,000.00 | 30,000.00 | SURGICAL INSTRUMENT: Uterine Curette, stainless steel, serrated, 10mm, 28-30cm |
| 535 | 2 | pcs | 15,000.00 | 30,000.00 | SURGICAL INSTRUMENT: Uterine Curette, stainless steel, blunt, 9mm, 31-32cm |
| 536 | 3 | pcs | 15,000.00 | 45,000.00 | SURGICAL INSTRUMENT: Hysterometer Sims, stainless steel, 33-35cm, 0.4mm rigid |
| 537 | 2 | pcs | 15,000.00 | 30,000.00 | SURGICAL INSTRUMENT: Uterine Tenaculum Braun, stainless steel, teetch 1x1, 26-28cm |

| 538 | 1 | pcs | 15,000.00 | 15,000.00 | SURGICAL INSTRUMENT: Sims Vaginal Retractor, stainless steel, 65x25mm/ 70x30mm |
|-----|---|-----|-----------|-----------|-------------------------------------------------------------------------------------------------------------------------------|
| 539 | 1 | pcs | 15,000.00 | 15,000.00 | SURGICAL INSTRUMENT: Sims Vaginal Retractor, stainless steel, 85x35mm/ 90x40mm |
| | | | | | LOT 53 |
| 540 | 1 | pcs | 10,000.00 | 10,000.00 | SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm, 2mm tip |
| 541 | 1 | pcs | 10,000.00 | 10,000.00 | SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 4mm tip |
| 542 | 1 | pcs | 10,000.00 | 10,000.00 | SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 6mm tip |
| 543 | 1 | pcs | 10,000.00 | 10,000.00 | SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 10mm tip |
| 544 | 2 | pcs | 15,000.00 | 30,000.00 | SURGICAL INSTRUMENT: Desjardins gallstone forceps 23cm, stainless steel |
| 545 | 3 | pcs | 15,000.00 | 45,000.00 | SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5-25.5cm |
| 546 | 3 | pcs | 15,000.00 | 45,000.00 | SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm |
| 547 | 3 | pcs | 10,000.00 | 30,000.00 | SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm |
| 548 | 2 | pcs | 12,000.00 | 24,000.00 | SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm |

| 549 | 1 | pcs | 12,000.00 | 12,000.00 | SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm |
|-----|----|-----|-----------|-----------|---------------------------------------------------------------------------------------------------------------------|
| 550 | 1 | pcs | 12,000.00 | 12,000.00 | SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm |
| 551 | 1 | pcs | 12,000.00 | 12,000.00 | SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19- 20cm |
| | | | | | LOT 54 |
| 552 | 30 | pcs | 1,000.00 | 30,000.00 | Gigli wire 40 cm |
| 553 | 30 | pcs | 1,000.00 | 30,000.00 | Gigli wire 60 cm |
| 554 | 4 | pcs | 9,875.00 | 39,500.00 | SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable. |
| 555 | 1 | pcs | 15,000.00 | 15,000.00 | SURGICAL INSTRUMENT: Hohmann Mini, stainless steel, 8mm, 16-17cm |
| 556 | 1 | pcs | 20,000.00 | 20,000.00 | SURGICAL INSTRUMENT: Wire and Pin Cutter, stainless steel, diameter cut at least 1.0mm hard wire |
| | | | | | LOT 55 |
| 557 | 1 | pcs | 10,000.00 | 10,000.00 | Chalazion Lid Forceps, stainless steel, small size 11mmx17mm inside diameter of fenestrated jaw with screw |
| 558 | 1 | pcs | 10,000.00 | 10,000.00 | Chalazion Curette, stainless steel, straight 5 inches, 0.5mm |
| 559 | 1 | pcs | 10,000.00 | 10,000.00 | Chalazion Curette, stainless steel, straight 5 inches, 1.5mm |
| | | | | | LOT 56 |
| 560 | 4 | bot | 9,060.00 | 36,240.00 | Reticulocyte stain solution, (Brilliant Cresyl Blue), 500 ml |
| 561 | 17 | bot | 2,500.00 | 42,500.00 | Oil Immersion, non-drying, 100- 120ml |

| | | | | | LOT 57 |
|---------|-----|----------|-----------|--------------|---------------------------------------------------------------------------------------------------------------------------------|
| 562 | 3 | bot | 228.00 | 684.00 | CSF Diluting Fluid, 250ml/bot |
| 563 | 6 | bot | 750.00 | 4,500.00 | Potassium Hydroxide Solution, 10%, 500 ml |
| 564 | 1 | box | 2,500.00 | 2,500.00 | Potassium Hydroxide, Powder, 500g |
| 565 | 20 | kit | 1,620.00 | 32,400.00 | Rapid Plasma Reagin Test (RPR), 100 tests |
| <u></u> | | | | | LOT 58 |
| 566 | 22 | kit | 3,360.00 | 73,920.00 | ASO Latex Agglutination Test, 100 test |
| 567 | 60 | kit | 3,240.00 | 194,400.00 | CRP latex agglutination test, 100 tests |
| 568 | 58 | box | 8,280.00 | 480,240.00 | Microtome blades S-35, 50's |
| 569 | 5 | kit | 3,600.00 | 18,000.00 | RA / RF Latex Agglutination Test, 100 Tests |
| 570 | 22 | roll | 3,240.00 | 71,280.00 | Sealing film, colorless, semitransparent, moisture proof, twoway stretch, 4 in. x 125 ft. |
| | | | | | LOT 59 ARTERIA BLOOD GASES AND ELECTROLYTES REAGENT AND OTHER CONSUMABLES |
| 571 | 240 | box | 15,000.00 | 3,600,000.00 | BLOOD GASES 25 CASSETTES (pH, PCO2, PO2, THB, SO2) |
| 572 | 60 | bot | 10,000.00 | 600,000.00 | Calibrating Gas for Calibration, of pH, PCO2, PO2, Disposable low-pressure bottle containing 0.35 liters of gas, at psi at 21*c |
| 573 | 5 | box | 7,500.00 | 37,500.00 | Electrolytes, 25 cassettes, (Sodium, Potassium, Chloride, Ionized Calcium, ph) |
| 574 | 1 | cassette | 10,000.00 | 10,000.00 | Opticheck |
| | | | | | LOT 60 BLOOD COLLECTION SUPPLIES WITH PROVISION OF CPR OR CPR OR COE |

| 575 | 105 | pack | 2,040.00 | 214,200.00 | Capillary blood collection tube, 0.25 to 0.5 ml , K2/K3, EDTA, screw cap 100's |
|-----|-----|------|----------|--------------|------------------------------------------------------------------------------------------------------------------------------------------|
| 576 | 35 | pack | 2,040.00 | 71,400.00 | Capillary blood collection tube, 0.5 to 0.8ml, gel separator, yellow top, screw cap, 100's |
| 577 | 70 | pack | 2,040.00 | 142,800.00 | Capillary blood collection tube, 1.0 ml, 3.2% 9NC Sodium Citrate, blue top, screw cap, 100's |
| 578 | 5 | pack | 2,200.00 | 11,000.00 | Capillary blood collection tubes, 0.8 ml, Lithium Heparin, screw cap, 100's |
| 579 | 57 | box | 3,600.00 | 205,200.00 | ESR Pipette w/ Adapter and graduation single use 200's |
| 580 | 220 | pack | 2,200.00 | 484,000.00 | Evacuated tube, 3.2% Citrate, blue top, plastic, screw cap/patented safety cap closure, 1.8 to 2 ml draw, 13 x 75, 100's |
| 581 | 720 | pack | 1,900.00 | 1,368,000.00 | Evacuated tubes, plastic, with gel separator, clot activator, safety screw cap/patented safety cap closure, 3-4 ml draws, 13 x 75, 100's |
| 582 | 80 | pack | 1,200.00 | 96,000.00 | Evacuated tube, red top, plain, plastic, screw cap, 4 to 5 ml draw, 100's |
| 583 | 770 | pack | 2,300.00 | 1,771,000.00 | Evacuated tubes, EDTA, K2/K3, lavander top, plastic, 2 ml draw, safety screw cap/patented safety cap closure, 13 x 75, 100's |
| 584 | 30 | pack | 1,200.00 | 36,000.00 | Multi-sample Needle, with flash back 23Gx1 100/pack with adaptors |
| | | | | | LOT 61 ABO/RH TYPING AND CROSS MATCHING REAGENT WITH CPR |
| 585 | 65 | set | 860.00 | 55,900.00 | Blood typing reagent kit, (with a 10ml glass vial of anti-A mouse hydridoma and a 10 ml glass vial of anti-B mouse hydridoma) |

| 586 | 65 | vial | 650.00 | 42,250.00 | RH typing Reagent, (with a 10ml glass vial of anti-D IgG and IgG Blend) |
|-----|----|------|-----------|------------|----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 587 | 23 | vial | 850.00 | 19,550.00 | Anti-Human Globulin Reagent, (with a 10 ml glass vial of Anti IgG-C3d, polyspecific, green, polyclonal and monoclonal) |
| 588 | 28 | vial | 755.00 | 21,140.00 | Low Ionic Strength Saline Solution, Rapid Antibody Medium,10ml |
| | | | | | LOT 62 COAGULATION REAGENTS, CONTROLS AND ACCESSORIES WITH PROVISION OF FULLY AUTOMATED ANALYZER, MECHANICAL, CHROMOGENIC AND IMMUNOLOGIC PRINCIPLE, CAPABLE OF ANALYZING LIPEMIC, CHYLOUS AND HEMOLYZED VALUE, THROUGHPUT OF AT LEAST 120 TESTS PER HOUR FOR PT AND AT LEAST 90 TESTS PER HOUR FOR COMBINED PT & PTT, LIS READY |
| 589 | 30 | kit | 27,000.00 | 810,000.00 | Activated Partial Thromboplastin Time (aPTT), 6 vials x 5 ml or its equivalent |
| 590 | 2 | kit | 21,000.00 | 42,000.00 | Calcium Chloride 24 vials x 15 ml or its equivalent |
| 591 | 50 | bot | 9,000.00 | 450,000.00 | Cleaner Solution 2,500 ml or its equivalent |
| 592 | 16 | kit | 15,000.00 | 240,000.00 | Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml or its equivalent |
| 593 | 16 | pack | 21,000.00 | 336,000.00 | Cuvettes, at least 1,000's per roll, 1 roll per pack or its equivalent |
| 594 | 16 | kit | 37,000.00 | 592,000.00 | Desorb U, 24 x 15 ml or its equivalent |
| 595 | 40 | kit | 11,000.00 | 440,000.00 | Protime reagent (PT), 6 vials X 5 ml, or its equivalent |

| | | | | | LOT 63 DIFFERENTIAL COUNT STAIN |
|-----|----|-----|-----------|-----------|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 596 | 13 | bot | 2,160.00 | 28,080.00 | Differential Count stain, solution A/1, 2.5L (Fixative), (Fixative / Methanol) |
| 597 | 7 | bot | 7,800.00 | 54,600.00 | Differential Count stain, solution B/2, 2.5L (Red), (Red/Eosin) |
| 598 | 7 | bot | 9,360.00 | 65,520.00 | Differential Count stain, solution C /3 , 2.5 L (Blue), (Methylene Blue) |
| | | | | | LOT 64 DONOR SCREENING REAGENTS FOR TRANSFUSION TRANSMISSIBLE INFECTION AND HEPATITIS PROFILE (A,B, C) REAGENTS, WITH PROVISION OF ONE UNIT FULLY AUTOMATED FLOOR TYPE ANALYZER, CHEMILUMINESCENCE PRINCIPLE, CAPABLE OF AT LEAST 240 TESTS PER HOUR (NO-PAUSE LOADING OF REAGENTS, CONSUMABLES AND SAMPLES); WIDE RANGE OF ASSAY MENU, MUST HAVE DISPOSABLE TIPS AND CUVETTES TO ENSURE ZERO SAMPLE CARRY-OVER, CAN ACCOMMODATE 5 TO 10 ML SAMPLE COLLECTION TUBES AND 1 TO 2 ML SAMPLE CUPS; PROVISION OF ONE (1) UNIT THERMAL PRINTER, 50 ROLLS BLOOD BAG LABEL, THERMAL TRANSFER RIBBON FOR THERMAL PRINTER AND ONE (1) UNIT BARCODE SCANNER, COMPLIANT WITH THE REQUIREMENT OF NATIONAL BLOOD BANK NETWORK SYSTEM |
| 599 | 12 | box | 7,000.00 | 84,000.00 | Acid / Base Reagent, 2 x 1500 ml / box or its equivalent |
| 600 | 1 | kit | 48,000.00 | 48,000.00 | AHBc IgM (included calibrator), 100 tests or its equivalent |

| 601 | 1 | kit | 15,000.00 | 15,000.00 | AHBc IgM QC Kit, $2 \times 2 \times 7$ ml / kit or its equivalent |
|-----|----|-----|-----------|------------|------------------------------------------------------------------------|
| 602 | 4 | kit | 32,000.00 | 128,000.00 | AHBe (included calibrator), 50 tests or its equivalent |
| 603 | 2 | kit | 17,000.00 | 34,000.00 | AHBe QC Kit, 2 x 2 x 10 ml or its equivalent |
| 604 | 1 | kit | 53,000.00 | 53,000.00 | AHBs II (included calibrator), 200 tests or its equivalent |
| 605 | 1 | kit | 15,000.00 | 15,000.00 | AHBS II QC Kit, $2 \times 2 \times 10$ ml or its equivalent |
| 606 | 10 | box | 63,000.00 | 630,000.00 | AHCV Kit (included calibrator), 200 tests / box or its equivalent |
| 607 | 5 | kit | 25,000.00 | 125,000.00 | AHCV QC Kit, 2 x 2 x7 ml / kit or its equivalent |
| 608 | 20 | kit | 32,000.00 | 640,000.00 | CHIV Combo (included calibrator), 100 tests / kit or its equivalent |
| 609 | 10 | kit | 11,000.00 | 110,000.00 | CHIV QC Kit, 4 x 2 x 2.5 ml / kit |
| 610 | 12 | box | 21,000.00 | 252,000.00 | Cleaning Solution, 12×70 ml or its equivalent |
| 611 | 2 | box | 37,000.00 | 74,000.00 | Cuvettes 3,000 pcs / box or its equivalent |
| 612 | 1 | kit | 69,000.00 | 69,000.00 | HAV Igm (included calibrator), 100 tests or its equivalent |
| 613 | 1 | kit | 19,000.00 | 19,000.00 | HAV Igm QC Kit, $2 \times 2 \times 7$ ml / kit or its equivalent |
| 614 | 1 | kit | 61,000.00 | 61,000.00 | HAV Total (included calibrator), 100 tests or its equivalent |
| 615 | 1 | kit | 20,000.00 | 20,000.00 | HAV Total QC Kit, $2 \times 2 \times 7$ ml or its equivalent |
| 616 | 5 | kit | 37,000.00 | 185,000.00 | HBASG II QC Kit, 2 x 2 x 10 ml / kit or its equivalent |
| 617 | 1 | kit | 58,000.00 | 58,000.00 | HBcT (included calibrator, 200 tests) |
| 618 | 1 | kit | 15,000.00 | 15,000.00 | HBcT QC Kit, 2 x 2 levels 2 x 2 x 7 ml / kit or its equivalent |

| 619 | 4 | kit | 32,000.00 | 128,000.00 | HBe Ag (included calibrator), 50 tests or its equivalent |
|-----|----|------|-----------|------------|-----------------------------------------------------------------------------------------------|
| 620 | 2 | kit | 20,000.00 | 40,000.00 | HBe Ag QC Kit, $2 \times 2 \times 10$ ml or its equivalent |
| 621 | 10 | kit | 37,000.00 | 370,000.00 | HBSAG II (included calibrator), 200 tests / box or its equivalent |
| 622 | 12 | box | 25,000.00 | 300,000.00 | Multi-diluent 10, 2 x 5 ml or its equivalent |
| 623 | 12 | box | 11,000.00 | 132,000.00 | Multi-diluent 2, 2 x 10 ml or its equivalent |
| 624 | 12 | box | 13,000.00 | 156,000.00 | Multi-diluent II, 2 x 5ml or its equivalent |
| 625 | 12 | box | 16,000.00 | 192,000.00 | Probe wash 1, 2 x 25 ml or its equivalent |
| 626 | 12 | box | 16,000.00 | 192,000.00 | Probe wash 3, 1 x 50 ml per box |
| 627 | 12 | box | 11,000.00 | 132,000.00 | Probe Wash, 1 bottle x 50 ml per box or its equivalent |
| 628 | 4 | pack | 79,000.00 | 316,000.00 | Sample Cups 1,500 pieces per pack or its equivalent |
| 629 | 2 | pack | 63,000.00 | 126,000.00 | Sample tips, at least 6,000 pieces per pack or its equivalent |
| 630 | 10 | box | 40,000.00 | 400,000.00 | Syphilis (included calibrator), 200 tests / box or its equivalent |
| 631 | 5 | kit | 16,000.00 | 80,000.00 | Syphilis QC Kit, $2 \times 2 \times 7$ ml / kit or its equivalent |
| 632 | 12 | box | 21,000.00 | 252,000.00 | Wash 1 Reagent, 2 x 2500 ml / box or its equivalent |
| | | | | | LOT 65 HISTOPATHOLOGY CONSUMABLES, COMPATIBLE WITH EXISTING FULLY AUTOMATED ANALYZER |
| 633 | 2 | рс | 20,000.00 | 40,000.00 | ACTIVATED CARBON FILTER COMPATIBLE WITH EXISTING LEICA ST5010 AUTOSTAINER XL |
| 634 | 2 | box | 13,500.00 | 27,000.00 | H-pyloric kit (50 pcs./box) |

| 635 | 20 | kit | 17,000.00 | 340,000.00 | INFINITY FOR H & E STAINING KIT COMPATIBLE WITH EXISTING LEICA ST5010 AUTOSTAINER XL |
|-----|------|------|-----------|------------|----------------------------------------------------------------------------------------------------------------------------------------------------------|
| | | | | | LOT 66 HISTOPATHOLOGY CONSUMABLES, COMPATIBLE WITH EXISTING FULLY AUTOMATED ANALYZER |
| 636 | 30 | box | 22,000.00 | 660,000.00 | LEICA SURGIPATH "SNOW COATED SLIDE (clipped corner) 72'2 per box FOR LEICA IPS SLIDE AND CASSETTE PRINTER |
| 637 | 2 | cart | 18,700.00 | 37,400.00 | TRANSPORT CLEANING CARTRIDGE, 120 ML FOR LEICA IPS SLIDE AND CASSETTE PRINTER |
| 638 | 2 | kit | 80,000.00 | 160,000.00 | LEICA IPS CARTRIDGE KIT (ink cartridge, Leica ink 280 ml, CLEANING SWABS 25'S SEAL DEVICE / REPLACEMENT PLATE) FOR LEICA IPS SLIDE AND CASSETTE PRINTER |
| 639 | 80 | pack | 2,000.00 | 160,000.00 | Tissue Cassettes 250's, Compatible with IPS Cassette Printer |
| | | | | | LOT 67 MICROBIOLOGY USE PREPARED PLATED MEDIA, INCUBATION SUPPLIES AND OTHER CONSUMABLES |
| 640 | 3300 | pcs | 72.00 | 237,600.00 | CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM |
| 641 | 8100 | pcs | 72.00 | 583,200.00 | MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM |
| 642 | 8100 | pcs | 72.00 | 583,200.00 | TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM |
| 643 | 2 | unit | 36,000.00 | 72,000.00 | Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of |

| | | | | | 10 - 15 plates incubation, transparent |
|-----|------|-------|----------|------------|-----------------------------------------------------------------------------------------------------------------------------------------------------|
| 644 | 5 | box | 5,000.00 | 25,000.00 | Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's |
| 645 | 15 | pack | 4,900.00 | 73,500.00 | CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack |
| 646 | 1900 | pack | 45.00 | 85,500.00 | inoculating loop, sterile, 10 ul, plastic 10's |
| 647 | 800 | pack | 45.00 | 36,000.00 | inoculating loop, sterile, 1 ul, plastic 10's |
| | | | | | LOT 68 RAPID TESTS WITH CPR FDA CERTIFICATION |
| 648 | 1225 | piece | 152.00 | 186,200.00 | Dengue IgG / IgM Rapid Test, Sensitivity at least 94%, Specificity at least 96% |
| 649 | 1350 | piece | 340.00 | 459,000.00 | Dengue NS1, One Step, Rapid, Immunochromatography Test, 92- 100% specificity and sensitivity |
| 650 | 1500 | pcs | 50.00 | 75,000.00 | Pregnancy Test Kits, 50's with FDA Certification |
| 651 | 12 | box | 5,700.00 | 68,400.00 | Typhoid IgG/IgM Combo Test Kit (Serum/Plasma) 25's |
| 652 | 1700 | pcs | 225.00 | 382,500.00 | Covid-19 Antigen Kits, (Nasopharyngeal Swab), Latex Chromatography Assay. with RITM validation and FDA Certfication |
| | | | | | LOT 69 MICROBIOLOGY USE STAINING REAGENTS |
| 653 | 17 | set | 2,400.00 | 40,800.00 | AFB Stain Set, Ziehl-Neelsen Hot Method,(Carbol Fuchsin-500ml, Acid Alcohol 2 bottles-500ml per bottle, Alkaline Methylene Blue- 500ml) |
| 654 | 52 | set | 2,640.00 | 137,280.00 | Gram Stain Set (with Crystal Violet, iodine, Acetone Alcohol and Safranin), 200 tests |

| | | | | | LOT 70 HISTOPATHOLOGY SUPPLIES, REAGENTS AND OTHER SUPPLIES |
|-----|-----|-----|-----------|------------|------------------------------------------------------------------------------------------------|
| 655 | 55 | bot | 2,563.20 | 140,976.00 | 95% reagent grade for Hispathology use 3.8 / 4 liters |
| 656 | 40 | bot | 2,899.00 | 115,960.00 | Alcohol, 100%, reagent alcohol, Histology and Cytology dehydrating agent, 3.8 / 4 liters |
| 657 | 15 | bot | 2,716.80 | 40,752.00 | Alcohol,Ethanol,Absolute, for Histopathology use, 3.8 - 4 liters |
| 658 | 1 | btl | 6,000.00 | 6,000.00 | Anti-freeze oil, for Histopathology use,100 ml |
| 659 | 195 | box | 144.00 | 28,080.00 | Coverglass / Coverslip, 24 x 55-56 mm, clear, for Histopathology use, 100's |
| 660 | 6 | bot | 2,500.00 | 15,000.00 | Decalcifier I, 946 ml to 1,000 ml |
| 661 | 6 | bot | 2,500.00 | 15,000.00 | Decalcifier II, 946 ml to 1,000 ml |
| 662 | 15 | bot | 2,500.00 | 37,500.00 | EA 50 (Eosin Azure), for Histopathology use, 900 ml - 1,000ml |
| 663 | 15 | bot | 2,000.00 | 30,000.00 | Eosin for Histopathology use , 946 - 1000ml |
| 664 | 10 | box | 3,600.00 | 36,000.00 | Fecal Occult Blood rapid Test 100's |
| 665 | 170 | bot | 2,000.00 | 340,000.00 | Formalin, Neutral Buffered, 10%, 3.8 - 4 liters |
| 666 | 4 | can | 2,000.00 | 8,000.00 | Freezing Spray for Histopathology Use (Frozen Section) 10oz/can |
| 667 | 5 | bot | 15,000.00 | 75,000.00 | Frozen Section Compound (Blue), 118 ml |
| 668 | 900 | box | 84.00 | 75,600.00 | Glass Slides, Frosted end, 3"x1", 72's |
| 669 | 400 | box | 55.20 | 22,080.00 | Glass Slides, Plain, 3"x1", 72's |
| 670 | 15 | bot | 2,376.00 | 35,640.00 | Harrishematoxylin, 500-560 ML, Reagent for Histopathology Use |
| 671 | 250 | box | 100.00 | 25,000.00 | Microscope Slide Cover Slip, 24mm x 50mm 100/box |

| 672 | 9 | bot | 2,500.00 | 22,500.00 | Mounting Medium, Rapid, for microscopy use, 470 - 500ml |
|-----|-------|------|-----------|------------|-----------------------------------------------------------------------------------------------------------------------------------|
| 673 | 21 | bot | 2,500.00 | 52,500.00 | OG-6 (Orange G-6), cytological stain, for laboratory use, 900-1000ml |
| 674 | 200 | pack | 975.00 | 195,000.00 | Paraffin wax tissue embedding medium, 1 kg |
| 675 | 20 | pcs | 950.00 | 19,000.00 | Slide Tray, Plastic, white, 13 inches x 15 inches, for Histopathology use, will fit to 40 glass slides |
| 676 | 45100 | pcs | 10.00 | 451,000.00 | Specimen container, sterile, individual wrap, screw cap, plastic with label 60 ml (for culture and sensitivity use) |
| 677 | 2 | bot | 2,000.00 | 4,000.00 | Tissue Embedding Medium for frozen section, 120ml |
| 678 | 225 | pack | 800.00 | 180,000.00 | Transfer pipette, plastic, 3ml, 250's |
| 679 | 58 | bot | 3,350.00 | 194,300.00 | Xylene, Purified, cleaning agent for Histopathology use, 3.8 liters |
| | | | | | LOT 71 HISTOPATHOLOGY USE ETHYL ALCOHOL |
| 680 | 95 | bot | 700.00 | 66,500.00 | Alcohol Ethyl 70%, 1L for Histopathology grade |
| 681 | 95 | bot | 700.00 | 66,500.00 | Alcohol Ethyl, 80% 1L for Histopathology grade |
| | | | | | LOT 72 |
| 682 | 2 | pcs | 20,000.00 | 40,000.00 | Pipettor, 1000 ul, lightweight, low plunger and ejection forces, ergonomic comfort, with and interlock cliptip interface |
| 683 | 2 | pcs | 20,000.00 | 40,000.00 | Pipettor, 10-100 ul, lightweight, low plunger and ejection forces, ergonomic comfort, with and interlock cliptip interface |
| 684 | 2 | pcs | 20,000.00 | 40,000.00 | Pipettor, 5-50 ul, lightweight, low plunger and ejection forces, |

| | | | | | ergonomic comfort, with and interlock cliptip interface |
|-----|-----|------|----------|------------|------------------------------------------------------------------|
| 685 | 35 | pack | 456.00 | 15,960.00 | Pipette tips blue, universal, 200- 1,000 ul, 500's |
| 686 | 360 | pack | 414.00 | 149,040.00 | Pipette tips, yellow, universal, 10- 200 ul, 1000's |
| | | | | | LOT 73 SENSITIVITY DISC 50 DISC/CARTRIDGE,10 CARTRIDGE/BOX |
| 687 | 3 | box | 3,600.00 | 10,800.00 | Amikacin |
| 688 | 3 | box | 3,600.00 | 10,800.00 | Amoxicillin |
| 689 | 3 | box | 3,600.00 | 10,800.00 | Amoxicillin/Clavulanic Acid |
| 690 | 3 | box | 3,600.00 | 10,800.00 | Ampicillin |
| 691 | 4 | box | 3,600.00 | 14,400.00 | Ampicillin/Sulbactam |
| 692 | 1 | box | 3,600.00 | 3,600.00 | Azithromycin |
| 693 | 4 | box | 3,600.00 | 14,400.00 | Aztreonam |
| 694 | 3 | box | 3,600.00 | 10,800.00 | Cefaclor |
| 695 | 4 | box | 3,600.00 | 14,400.00 | Cefazolin |
| 696 | 3 | box | 3,600.00 | 10,800.00 | Cefepime |
| 697 | 3 | box | 3,600.00 | 10,800.00 | Cefixime |
| 698 | 3 | box | 3,600.00 | 10,800.00 | Cefotaxime |
| 699 | 3 | box | 3,600.00 | 10,800.00 | Cefoxitin |
| 700 | 3 | box | 3,600.00 | 10,800.00 | Ceftazidime |
| 701 | 3 | box | 3,600.00 | 10,800.00 | Ceftriaxone |
| 702 | 3 | box | 3,600.00 | 10,800.00 | Cefuroxime |
| 703 | 2 | box | 3,600.00 | 7,200.00 | Chloramphenicol |
| 704 | 3 | box | 3,600.00 | 10,800.00 | Ciprofloxacin |
| 705 | 3 | box | 3,600.00 | 10,800.00 | Clarithromycin |
| 706 | 3 | box | 3,600.00 | 10,800.00 | Clindamycin |
| 707 | 3 | box | 3,600.00 | 10,800.00 | Colistin |

| 708 | 3 | box | 3,600.00 | 10,800.00 | Doxycycline |
|-----|---|-----|----------|-----------|----------------------------------------------|
| 709 | 3 | box | 3,600.00 | 10,800.00 | Ertapenem |
| 710 | 3 | box | 3,600.00 | 10,800.00 | Erythromycin |
| 711 | 3 | box | 3,600.00 | 10,800.00 | Gentamicin |
| 712 | 3 | box | 3,600.00 | 10,800.00 | Imipenem |
| 713 | 4 | box | 3,600.00 | 14,400.00 | Levofloxacin |
| 714 | 3 | box | 3,600.00 | 10,800.00 | Linezolid |
| 715 | 3 | box | 3,600.00 | 10,800.00 | Meropenem |
| 716 | 3 | box | 3,600.00 | 10,800.00 | Metronidazole |
| 717 | 4 | box | 3,600.00 | 14,400.00 | Minocycline |
| 718 | 3 | box | 3,600.00 | 10,800.00 | Nitrofurantoin |
| 719 | 1 | box | 3,600.00 | 3,600.00 | Novobiocin |
| 720 | 3 | box | 3,600.00 | 10,800.00 | Ofloxacin |
| 721 | 3 | box | 3,600.00 | 10,800.00 | Oxacillin |
| 722 | 3 | box | 3,600.00 | 10,800.00 | Penicillin |
| 723 | 3 | box | 3,600.00 | 10,800.00 | Piperacillin |
| 724 | 3 | box | 3,600.00 | 10,800.00 | Piperacillin/Tazobactam |
| 725 | 3 | box | 3,600.00 | 10,800.00 | Rifampin |
| 726 | 4 | box | 3,600.00 | 14,400.00 | Sulfamethoxazole-Trimethoprim |
| 727 | 3 | box | 3,600.00 | 10,800.00 | Tazobactam |
| 728 | 3 | box | 3,600.00 | 10,800.00 | Tetracycline |
| 729 | 4 | box | 3,600.00 | 14,400.00 | Tobramycin |
| 730 | 3 | box | 3,600.00 | 10,800.00 | Vancomycin |
| | | | | | LOT 74 TRANSFUSION AND |
| | | | | | ANTIBODY SCREENING |
| | | | | | (IMMUNOHEMATOLOGY SYSTEM) PROVISION OF FULLY |
| | | | | | AUTOMATED ANALYZER AND |
| | | | | | BACK UP UNIT UTILIZING |
| | | | | | SAME REAGENTS, 8 COLUMN |
| | | | | | AGGLUTINATION GEL CARD, |

| | | | | | CAN DETECT D AND WEAK D IN THE SAME CARD |
|-----|-------|-------|-----------|--------------|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 731 | 150 | kit | 5,720.00 | 858,000.00 | Buffered LISS 200 tests/ kit |
| 732 | 15000 | piece | 294.80 | 4,422,000.00 | Gel cards for ABO / RH Forward and reverse grouping |
| 733 | 40 | pack | 15,620.00 | 624,800.00 | Gel cards for Cross Matching and Anti-body Screening, 400 tests / kit for crossmatching and 133 test, /kit for patient antibody screening |
| 734 | 50 | kit | 5,940.00 | 297,000.00 | Red blood cells for forward and reverse grouping 110 tests / kit |
| 735 | 20 | kit | 9,130.00 | 182,600.00 | Red blood Cell for Patient Anti- body Screening 200 Tests / Kit |
| | | | | | LOT 75 URINE STRIPS, ASCORBIC ACID SENSITIVE, 11 PARAMETERS, WITH PROVISION OF URINE STRIP READER; PROVISION OF 1 SET CONTROL (LEVEL 1 (& 2) FOR CALIBRATION PURPOSE FOR ONE-TIME USE, WITH CPR & MSDS |
| 736 | 124 | bot | 1,500.00 | 186,000.00 | Urine strips 11 parameters, Ascorbic Acid sensitive, 100pcs/cannister or its equivalent |
| 737 | 230 | roll | 180.00 | 41,400.00 | Thermal paper, 58 x 75 mm, at least 1000 tests per roll |
| | | | | | LOT 76 REAGENTS AND CONSUMABLES FOR CLOVER A1C SELF ANALYZER |
| 738 | 100 | box | 3,938.00 | 393,800.00 | Clover A1C Self-Test Cartridge, 10/box |
| 739 | 20 | pack | 625.00 | 12,500.00 | Clover A1C Daily Check |
| 740 | 12 | pack | 625.00 | 7,500.00 | Clover A1C Monthly Check |
| | | | | | LOT 77 REAGENTS AND CONSUMABLES FOR I-STAT 300 ANALYZER |
| 741 | 5 | box | 16,100.00 | 80,500.00 | i-Stat Cartridge (EG7+), 25/box |

| 742 | 2 | box | 6,325.00 | 12,650.00 | Lithium Battery 9V |
|-----|----|------|-----------|--------------|-----------------------------------------------------------------------------------------|
| | | | | | LOT 78 REAGENTS AND CONSUMABLES FOR POINT OF CARE TESTING (NOVA PRIME PLUS AND |
| 743 | 25 | box | 19,003.00 | 475,075.00 | Auto-QC Cartridge with CR/UR 1 container/box |
| 744 | 25 | box | 35,703.00 | 892,575.00 | Calibrator Cartridge with CR/UR, 300 sample/rack |
| 745 | 1 | pack | 4,623.00 | 4,623.00 | Clot Catcher, 200's |
| 746 | 5 | bot | 7,003.00 | 35,015.00 | HC Cleaner 1L/bot |
| 747 | 5 | box | 8,253.00 | 41,265.00 | HC Diluent 20L/box |
| 748 | 5 | bot | 12,403.00 | 62,015.00 | HC Lyse 1L/bot |
| 749 | 10 | kit | 15,003.00 | 150,030.00 | Hematology Control, Tri-Level 3x3ml/kit |
| 750 | 20 | box | 11,005.00 | 220,100.00 | Prime Plus Renal Micro Sensor card 1 piece/box |
| 751 | 45 | box | 40,005.00 | 1,800,225.00 | Prime Plus Sensor card 1piece/box |
| 752 | 2 | pack | 3,783.00 | 7,566.00 | Printer Paper for POCT 5rolls/pack |
| 753 | 1 | pcs | 15,123.00 | 15,123.00 | Safety Sample Port |
| | | | | | LOT 79REAGENT FOR BLOOD GAS ANALYZER (NOVA PHOX ULTRA) |
| 754 | 10 | box | 32,002.00 | 320,020.00 | ABG Calibrator ULTRA pack for Nova Phox Ultra 1piece/box |
| 755 | 2 | box | 5,781.00 | 11,562.00 | ABG Deproteinizing Solution 30X1.4 ampuoles for Nova Phox Ultra |
| 756 | 10 | box | 13,912.00 | 139,120.00 | ABG ULTRA 3/6 Gas Controls for Nova Phox Ultra |
| 757 | 10 | box | 20,000.00 | 200,000.00 | ABG ULTRA CHEM CONTROL 1piece/box |
| 758 | 2 | bot | 5,438.00 | 10,876.00 | Conditioning Solution (Na/pH) for Nova Phox Ultra |

| 759 | 3 | box | 5,552.00 | 16,656.00 | External SO2 Calibrator 10x2 vials for Nova Phox Ultra |
|-----|------|------|-----------|------------|-----------------------------------------------------------------|
| 760 | 2 | bot | 4,205.00 | 8,410.00 | Nova Phox Ultra Cleaning Solution |
| 761 | 2 | bot | 1,996.00 | 3,992.00 | Soaking (Polishing Solution) for Nova Phox Ultra |
| 762 | 5 | pack | 3,502.00 | 17,510.00 | ULTRA Printer paper for ABG 5 rolls/pack for Nova Phox Ultra |
| | | | | | LOT 80 STANDARD REFERENCE MICROORGANISMA ATCC STRAINS |
| 763 | 2 | pack | 15,000.00 | 30,000.00 | ATCC 13883, Klebsiella pneumoniae, 5 loops/pack |
| 764 | 2 | pack | 15,000.00 | 30,000.00 | ATCC 25923, Staphylococcus aures subsp. Aureus, 5 loops/pack |
| 765 | 2 | pack | 15,000.00 | 30,000.00 | ATCC 27853, Pseudomonas aeruginosa, 5 loops/pack |
| 766 | 2 | pack | 15,000.00 | 30,000.00 | ATCC 29522, Escherichia coli, 5 loops/pack |
| 767 | 2 | pack | 15,000.00 | 30,000.00 | ATCC 36232, Candida Albicans, 5 loops/pack |
| 768 | 2 | pack | 15,000.00 | 30,000.00 | ATCC 49247 Haemophilus Influenzae, 5 loops/pack |
| 769 | 2 | pack | 15,000.00 | 30,000.00 | ATCC 49619, Streptococcus pneumoniae, 5 loops/pack |
| 770 | 1 | pack | 15,000.00 | 15,000.00 | ATCC Salmonella typhi, 5 loops/pack |
| 771 | 1 | pack | 15,000.00 | 15,000.00 | ATCC Vibrio Cholerae, 5 loops/pack |
| | | | | | LOT 81 BLOOD BAGS AND FILTERS FOR BLOOD BANK USE |
| 772 | 100 | pcs | 1,700.00 | 170,000.00 | Leukocyte Removal Filter for Platelet Preparations |
| 773 | 180 | pcs | 1,800.00 | 324,000.00 | Leukocyte Removal Filter with bypass line and transfer bag |
| 774 | 1100 | box | 582.00 | 640,200.00 | Transfer, aliquot bag, for Blood Bank Use, 150ml, 15's/box |

| | | | | | LOT 82 MIC STRIPS E TEST 30 STRIPS |
|-----|---|------|-----------|-----------|-----------------------------------------------------------------|
| 775 | 1 | cart | 10,100.00 | 10,100.00 | Azithromycin 0.016-256 |
| 776 | 1 | cart | 10,100.00 | 10,100.00 | Ceftazidime CAZ 0.016-256 |
| 777 | 1 | cart | 10,100.00 | 10,100.00 | Chloramphenicol C 0.016-256 |
| 778 | 1 | cart | 10,100.00 | 10,100.00 | Imipinem IMI 0.016-256 |
| 779 | 1 | cart | 10,100.00 | 10,100.00 | Levofloxacin LEV 0.002-32 |
| 780 | 1 | cart | 10,100.00 | 10,100.00 | Penicillin G P 0.016-256 |
| 781 | 1 | cart | 10,100.00 | 10,100.00 | Vancomycin VA 0.016-256 |
| | | | | | LOT 83 MICROBIOLOGY USE |
| 782 | 2 | bot | 9,480.00 | 18,960.00 | Microbiology use, Alkaline Peptone Water, agar powder, 500 g |
| 783 | 2 | cart | 1,000.00 | 2,000.00 | Microbiology Use, BC Bacitracin Taxo A, 50's |
| 784 | 1 | bot | 19,300.00 | 19,300.00 | Microbiology use, Bile Esculin Agar, powder, 500 g |
| 785 | 1 | bot | 9,400.00 | 9,400.00 | Microbiology Use,Blood Agar Base, Powder, 500g |
| 786 | 2 | bot | 12,300.00 | 24,600.00 | Microbiology Use, Brain Heart Infusion Agar, Powder, 500g |
| 787 | 1 | bot | 10,000.00 | 10,000.00 | Microbiology use, Columbia agar, powder 500 g |
| 788 | 1 | bot | 3,200.00 | 3,200.00 | Microbiology use, Dextrose Bacteriological, powder 500 g |
| 789 | 1 | bot | 10,900.00 | 10,900.00 | Microbiology Use, Eosin Methylene Blue, Powder, 500g |
| 790 | 2 | box | 13,500.00 | 27,000.00 | Microbiology Use, Gentamicin Supplement 10 vials/box |
| 791 | 1 | bot | 20,000.00 | 20,000.00 | Microbiology use, Haemophilus Test Medium, powder, 500 g |
| 792 | 1 | bot | 10,600.00 | 10,600.00 | Microbiology Use, Lysine Iron Agar, Powder, 500g |
| 793 | 4 | bot | 6,000.00 | 24,000.00 | Microbiology Use, MacConkey Agar, Powder, 500g |

| 794 | 1 | bot | 7,600.00 | 7,600.00 | Microbiology use, Maltose, powder, 500 g |
|-----|---|------|-----------|-----------|----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 795 | 3 | bot | 5,200.00 | 15,600.00 | Microbiology Use, Muiller Hinton Agar, Powder, 500g |
| 796 | 1 | cart | 3,600.00 | 3,600.00 | Microbiology Use, Novobiocin Dics, 50's |
| 797 | 2 | cart | 1,000.00 | 2,000.00 | Microbiology Use, Op OptochinTaxo P, 50's |
| 798 | 2 | box | 5,900.00 | 11,800.00 | Microbiology Use, Oxidase Strips, 50's/box |
| 799 | 1 | bot | 8,100.00 | 8,100.00 | Microbiology use, Oxidase- fermentative (OF) Medium, powder 500 g |
| 800 | 2 | bot | 6,500.00 | 13,000.00 | Microbiology Use, Saboraud- Dextrose Agar, Powder, 500g |
| 801 | 2 | set | 19,200.00 | 38,400.00 | Microbiology Use, Samonella Presumptive Identification Typing Reagent, Latex Reagent 1 (1.7ml) Latex Reagent 2 (1.7ml) Red Control (1.6ml) Blue Control (1.6ml) Green Control (1.6ml) |
| 802 | 1 | set | 76,800.00 | 76,800.00 | Microbiology use, Salmonella Presumptive Serogroup Typing Reagent, Latex Reagent 1 (1.7ml) Latex Reagent 2 (1.7ml) Red Control (1.6ml) Blue Control (1.6ml) Green Control (1.6ml) |
| 803 | 3 | bot | 6,000.00 | 18,000.00 | Microbiology Use, Salmonella Shigella Agar, Powder, 500g |
| 804 | 3 | bot | 10,558.30 | 31,674.90 | Microbiology use, Selenite F Broth, selective enrichment medium for Salmonella spp, 500g |
| 805 | 2 | set | 19,200.00 | 38,400.00 | Microbiology use, Shigella Presumptive Identification Typing Reagent, Shigella Flexneri Anti- sera, Shigella boydi Anti-sera, Shigella Dysenteriae Ant-sera, Shigella Sonnie Anti-Sera |

| 806 | 1 | bot | 14,500.00 | 14,500.00 | Microbiology Use, SIM Medium, Powder, 500g |
|-----|----|------|-----------|------------|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 807 | 1 | bot | 10,300.00 | 10,300.00 | Microbiology Use, Simmons Citrate Agar, Powder, 500g |
| 808 | 1 | bot | 13,900.00 | 13,900.00 | Microbiology Use, Sorbitol MacConkey Agar, Powder, 500g |
| 809 | 2 | cart | 950.00 | 1,900.00 | Microbiology Use, Taxo V Factor disc, For Haemophilus Organism test, 50's |
| 810 | 2 | cart | 950.00 | 1,900.00 | Microbiology Use, Taxo X Factor disc, For Haemophilus Organism test, 50's |
| 811 | 2 | cart | 950.00 | 1,900.00 | Microbiology Use, Taxo XV Factor disc, For Haemophilus Organism test, 50's |
| 812 | 3 | bot | 12,000.00 | 36,000.00 | Microbiology Use, Thioglycollate Fluid Medium, Powder, 500g |
| 813 | 3 | bot | 6,800.00 | 20,400.00 | Microbiology Use, Thiosulfate Citrate Bile Salts Sucrose Agar, Powder, 500g |
| 814 | 1 | bot | 8,900.00 | 8,900.00 | Microbiology Use, Triple Sugar Iron Agar, Powder, 500g |
| 815 | 2 | bot | 5,200.00 | 10,400.00 | Microbiology Use, Tryptone Soya Broth, Powder, 500g |
| 816 | 1 | bot | 12,200.00 | 12,200.00 | Microbiology Use, Urea Broth, Powder, 500g |
| | | | | | LOT 84 REAGENTS, CONTROLS & ACCESSORIES FOR DRY CHEMISTRY, WINNING BIDDER TO LEND A FULLY AUTOMATED FLOOR TYPE DRY CHEMISTRY ANALYZER, FREE OF CHARGE PREV. MAINTENANCE, PARTS AND REPAIR, WITH LIS CONNECTIVITY. |
| 817 | 20 | box | 11,000.00 | 220,000.00 | Albumin/5 Pack/250 Slide |
| 818 | 15 | box | 10,553.00 | 158,295.00 | ALKP/5 PACK/300 SLDS |
| 819 | 35 | box | 11,000.00 | 385,000.00 | ALTV/5 Pack/300 Slides |

| 820 | 2 | box | 4,182.00 | 8,364.00 | Ammonia/5 Pack/90 Slides |
|-----|----|-----|-----------|------------|--------------------------------------------------------------------|
| 821 | 15 | box | 11,987.00 | 179,805.00 | Amylase/5 Pack/300 Slides |
| 822 | 35 | box | 13,200.00 | 462,000.00 | AST/5 Pack/300 Slides |
| 823 | 30 | box | 10,548.00 | 316,440.00 | Bilirubin Unconjugated, Bilirubin Conjugated /5 Pack/300 Slides |
| 824 | 35 | box | 11,550.00 | 404,250.00 | BUN/5 Pack/300 Slides |
| 825 | 10 | box | 12,897.00 | 128,970.00 | Calcium/5 Pack/300 Slides |
| 826 | 45 | box | 11,000.00 | 495,000.00 | Chloride/CL/5 Pack/250 Slides |
| 827 | 25 | box | 11,330.00 | 283,250.00 | Cholesterol/5 Pack/300 Slides |
| 828 | 5 | box | 13,528.00 | 67,640.00 | CK/5 Pack/300 Slides |
| 829 | 10 | box | 16,450.00 | 164,500.00 | CKMB/5 Pack/300 Slides |
| 830 | 35 | box | 11,550.00 | 404,250.00 | Creatinine IDMS STD/5 Pack/300 Slides |
| 831 | 5 | box | 3,874.00 | 19,370.00 | CSF Protein/5 Pack/90 Slides |
| 832 | 25 | box | 28,600.00 | 715,000.00 | Direct HDL Slides/300 slides per pack |
| 833 | 25 | box | 11,550.00 | 288,750.00 | Glucose/5 Pack/300 Slides |
| 834 | 10 | box | 14,082.00 | 140,820.00 | Iron/5 Pack/90 Slides |
| 835 | 2 | box | 3,594.00 | 7,188.00 | Lactate/5 Pack/90 Slides |
| 836 | 35 | box | 15,400.00 | 539,000.00 | LDHI/5 Pack/250 Slides |
| 837 | 15 | box | 13,941.00 | 209,115.00 | Lipase/5 Pack/90 Slides |
| 838 | 2 | box | 3,594.00 | 7,188.00 | Lithium/5 Pack/90 Slides |
| 839 | 35 | box | 11,982.00 | 419,370.00 | Magnesium/5 Pack/300 Slides |
| 840 | 2 | box | 14,214.00 | 28,428.00 | Phenobarbital/5 Pack/90 Slides |
| 841 | 2 | box | 13,599.00 | 27,198.00 | Phenytoin/5 Pack/90 Slides |
| 842 | 10 | box | 10,300.00 | 103,000.00 | Phosporous/5 Pack/300 Slides |
| 843 | 85 | box | 11,000.00 | 935,000.00 | Potassium/K+/5 Pack/250 Slides |
| 844 | 85 | box | 11,000.00 | 935,000.00 | Sodium/NA+/5 Pack/250 Slides |
| 845 | 30 | box | 10,548.00 | 316,440.00 | Total Bilirubin/5 Pack/300 Slides |

| 846 | 20 | box | 11,005.00 | 220,100.00 | Total Protein/5 Pack/250 Slides |
|-----|-----|------|-----------|------------|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 847 | 25 | box | 11,330.00 | 283,250.00 | Triglycerides/5 Pack/300 Slides |
| 848 | 25 | box | 9,570.00 | 239,250.00 | Uric acid/5 Pack/300 slides |
| 849 | 10 | box | 4,059.00 | 40,590.00 | Urine Protein/5 Pack/90 Slides |
| | | | | | LOT 85 |
| 850 | 500 | pcs | 240.00 | 120,000.00 | ECG paper for BTL, 58cm roll |
| 851 | 20 | pad | 1,800.00 | 36,000.00 | CTG Monitoring Paper - Compatible to CTG Machine (Edan F6 & F9) |
| 852 | 500 | pcs | 85.00 | 42,500.00 | ECG Paper orange type 50cm or its equivalent |
| 853 | 200 | pack | 550.00 | 110,000.00 | Fetal Monitor Paper (COROMETRIC), compatible with fetal monitor Comen C22 machine |
| | | | | | LOT 86 REAGENTS FOR ENHANCED CHEMILUMINESCENCE IMMUNOLOGY, WINNING BIDDER TO PROVIDE ANALYZER WITH ENHANCED, CHEMILUMINISCENCE PRINCIPLE, SHALL PROVIDE CALIBRATORS, CONTROLS AND CONSUMABLES FOR TESTS FREE OF CHARGE. ANALYZER SHOULD BE ABLE TO DETECT CLOT CORRECTION, BUBBLE DETECTION, FLUID LEVEL SENSING AND SHORT SAMPLE DETECTION. USES DISPOSABLE TIPS FOR SAMPLES, USES READY TO USE WASH SOLUTION, DOES NOT REQUIRE WATER SYSTEM. FREE OF CHARGE PREVENTIVE MAINTENANCE, PARTS AND REPAIR, WITH LIS CONNECTIVITY. |
| 854 | 10 | box | 19,000.00 | 190,000.00 | AFP, 100 Tests |
| 855 | 20 | box | 25,300.00 | 506,000.00 | ANTI HAV IGM, 100 TESTS |
| 856 | 20 | box | 40,700.00 | 814,000.00 | ANTI HAV TOTAL, 100 TESTS |
| 857 | 40 | box | 21,450.00 | 858,000.00 | ANTI HBC IGM, 52 TESTS |
| 858 | 20 | box | 19,800.00 | 396,000.00 | ANTI HBC, 100 TESTS |
| 859 | 20 | box | 20,900.00 | 418,000.00 | ANTI HBE, 52 TESTS |

| 860 | 35 | box | 15,807.00 | 553,245.00 | ANTI HBS, 100 TESTS |
|-----|----|-----|------------|--------------|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 861 | 20 | box | 42,900.00 | 858,000.00 | ANTI-HCV, 100 TESTS |
| 862 | 10 | box | 38,100.00 | 381,000.00 | CA 125, 100 Tests |
| 863 | 10 | box | 34,500.00 | 345,000.00 | CA 15-3, 100 Tests |
| 864 | 10 | box | 32,600.00 | 326,000.00 | CA 19-9, 100 TESTS |
| 865 | 10 | box | 27,000.00 | 270,000.00 | CEA, 100 TESTS |
| 866 | 10 | box | 70,000.00 | 700,000.00 | CVGQN Reagent Pack, 100 Tests |
| 867 | 35 | box | 38,500.00 | 1,347,500.00 | Ferritin 100 Tests/Box |
| 868 | 10 | box | 26,500.00 | 265,000.00 | FT3 100 Tests/Box |
| 869 | 10 | box | 26,500.00 | 265,000.00 | FT4 100 Tests/Box |
| 870 | 20 | box | 25,300.00 | 506,000.00 | HBeAg 52 Tests/Box |
| 871 | 35 | box | 19,800.00 | 693,000.00 | HBsAg 100 Tests/Box |
| 872 | 5 | box | 20,500.00 | 102,500.00 | HIV COMBO 100 test/box |
| 873 | 15 | box | 45,000.00 | 675,000.00 | hsCRP, 300 Tests |
| 874 | 20 | box | 49,500.00 | 990,000.00 | HS Troponin I 100 Tests/Box |
| 875 | 10 | box | 100,000.00 | 1,000,000.00 | NT-PROBNP II Reagent, 100 Wells |
| 876 | 35 | box | 75,000.00 | 2,625,000.00 | Procalcitonin 100 Tests/Box |
| 877 | 10 | box | 30,000.00 | 300,000.00 | TOTAL PSA II REAGENT, 100 TESTS |
| 878 | 10 | box | 26,500.00 | 265,000.00 | TSH 3 REAGENT PACK, 100 Wells |
| 879 | 6 | box | 20,000.00 | 120,000.00 | TT3 100 Tests/Box |
| 880 | 6 | box | 20,000.00 | 120,000.00 | TT4 100 Tests/Box |
| | | | | | LOT 87 REAGENT AND SUPPLIES FOR BLOOD COMPATIBILITY TESTING. WINNING BIDDER TO PROVIDE A SEMI-AUTOMATED MACHINE THAT CAN PERFORM BLOOD TYPING, CROSS MATCHING AND ANTIBODY SCREENING TESTS. MACHINE SHOULD USE COLUMN AGGLUTINATION |

| | | | | | TECHNOLOGY PRINCIPLE WITH GLASS BEADS COLUMN MEDIUM. BLOOD TYPING TURN-AROUND TIME SHOULD BE LESS THAN 10 MINUTES AND CROSS MATCHING SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN. |
|-----|----|-----|------------|--------------|---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 881 | 30 | box | 33,000.00 | 990,000.00 | Anti-A/Anti-B/Anti-D,A/B/D Cassettes, 100/box |
| 882 | 50 | box | 41,800.00 | 2,090,000.00 | Anti-A/Anti-B/Anti- D/Control/Reverse Diluent Cassettes, 100/box |
| 883 | 40 | box | 49,500.00 | 1,980,000.00 | Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box |
| 884 | 50 | box | 8,000.00 | 400,000.00 | 0.8% Red Cell Diluent, 1x50 ml |
| | | | | | LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL |
| 885 | 50 | box | 11,000.00 | 550,000.00 | Protime reagent, 6 vials X 5 ml |
| 886 | 20 | box | 21,000.00 | 420,000.00 | Cuvettes, 1000's |
| 887 | 50 | box | 15,000.00 | 750,000.00 | Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml |
| 888 | 24 | box | 37,000.00 | 888,000.00 | Probe wash, 24 vials x 15 ml |
| 889 | 72 | box | 9,000.00 | 648,000.00 | Cleaner Solution 2,500 ml |
| 890 | 50 | box | 27,000.00 | 1,350,000.00 | Activated Partial Prothrombin Time reagent 12 vials x 4 ml |
| 891 | 15 | box | 21,000.00 | 315,000.00 | Calcium Chloride 0.025M reagent 24 vials x 15 ml |
| 892 | 5 | bot | 5,000.00 | 25,000.00 | Coolant (Glycol) 1 liter |
| 893 | 30 | box | 103,000.00 | 3,090,000.00 | D-Dimer 6-set latex 6ml buffert 5ml |

| | | | TOTAL | 188,914,147.90 | |
|-----|----|-----|------------|----------------|----------------------------------------------------------------------------------------|
| 905 | 12 | box | 17,500.00 | 210,000.00 | Diabetes Control, Bilevel, 6 x 0.5ml |
| 904 | 8 | kit | 100,000.00 | 800,000.00 | Hba1c Program Reorder Pack, 400 tests |
| | | | | | LOT 90 REAGENTS, CONTROLS AND ACCESSORIES FOR GLYCOSYLATED HEMOGLOBIN (HBA1C) |
| 903 | 5 | bot | 6,150.00 | 30,750.00 | Concentrated Cleaning Solution 500ml |
| 902 | 12 | set | 15,100.00 | 181,200.00 | Hematology Blood Control (H,L,N) 3x3ml |
| 901 | 72 | bot | 7,578.00 | 545,616.00 | Reagent for Leukocyte sub- population 1L |
| 900 | 50 | box | 13,848.00 | 692,400.00 | Buffered Isotonic Solution 20L, 1 bottle/box |
| 899 | 72 | bot | 5,598.00 | 403,056.00 | Enzymatic Cleaning Solution 1L |
| 898 | 72 | bot | 7,578.00 | 545,616.00 | Erythrocyte Lysing Reagent for WBC 1L |
| 897 | 60 | bot | 6,838.00 | 410,280.00 | Red Cell Lysing Solution 400ml |
| | | | | | LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED |
| 896 | 2 | pcs | 3,000.00 | 6,000.00 | Stirring Bar 3.2x12.7mm |
| 895 | 12 | box | 7,000.00 | 84,000.00 | Owren Kohler Buffer 24x15 ml |
| 894 | 50 | box | 21,000.00 | 1,050,000.00 | D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box |